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Tables (9d52;en)

11x1 =11 12x 1 =12 13x 1 =13 14x 1 =14 15x 1 =15

circle sphere

11x2 =22 12x2 =24 13x2 =26 14%x 2 =28 15x 2 = 30
11x3 =33 12x3 =36 13x3 =39 14x 3 =42 15%x 3 = 45
11x 4 =44 12%x 4 =48 13x 4 =52 14x 4 =56 15x 4 = 60

11x5 =55 12x5 =60 13x5 =65 14x5 =70 15x 5 =75
11x6 =66 12x6 =72 13x6 =78 14x6 =84 15%x 6 = 90
11x7 =77 12x 7 =84 13x7 =91 14x 7 =098 15%x 7 =105
11 x8 =88 12x 8 =96 13x8 =104 14x 8 =112 15%x 8 =120
triangle cone 1x9 =99 12X 9 =108 13x 9 =117 14x 9 =126 15x 9 =135
11 x 10 =110 12 x 10 =120 13 x 10 =130 14 x 10 =140 15 * 10 =150
6x1 =16 17x1 =17 18x 1 =18 19x 1 =19 20x 1 = 20
16x 2 =32 17x2 =34 18x 2 =36 19x 2 =38 20x 2 = 40
- 16 x 3 =48 17x 3 =51 18x 3 =54 19x 3 =57 20x 3 = 60
rectangle cuboid

l6 x4 =64 17x 4 =68 18x 4 =72 19x 4 =76 20x 4 = 80
6 x 5 =80 17x 5 = 85 JEEEEEEEEE 19 x 5 = 95 20x 5 =100

l6x 6 =9 17x 6 =102 18 x 6 =108 19 x 6 =114 20 x =y

N O

16 x 7 =112 17 x 7 =119 N 19 x 7 =133 20 x =140

16 x 8 =128 17 x 8 =136 18 x 8 =144 19 x 8 =152 20 x 8 =160

16 x 9 =144 17x 9 =153 18 x 9 =162 19x 9 =171 20x 9 =180

Square cube 16 x 10 =160 17 x 10 =170 18 x 10 =180 19 x 10 =190 20 x 10 =200
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Foreword
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The Government of Andhra Pradesh introduced extensive curriculum reforms in school education

from the academic year 2020-21. New textbooks were designed to enhance learning outcomes of the
children with focus on foundational learning. "The more you sing, the sweeter your song becomes; the
more you sing, the best singer you become. Neem-leaf taste changes from bitter to better if you are
regularly used to it. So, practice consistently to become what you want, to get what you want"- Yogi
Vemana. Workbooks are developed to give practice and supplement the textbook with additional
activities related to the textual concepts in a systematic procedure. This workbook is developed to
give ample practice to the student to master the concepts.

Semester system is going to be implemented from this academic year for 1 to 5 classes.
Mathematics workbooks have been developed in bilingual approach. Each lesson in the textbook is
divided into concepts and each concept is provided with a worksheet in the workbook. The concept
taught in the instructional period can be reinforced through worksheets which helps the child to understand
the concept well.

Workbook is developed in continuum with the textbook. In Mathematics, practising the exercises
plays a vital role to understand the concepts. This workbook exercises are more child friendly as well
as teacher friendly to deal with multi-class teaching. The number of worksheets is equal to the number
ofperiods allotted for that unit. Problems given in the workbook are based on real life situations by
following the strategy of simple to complex. Especially word-problems are given importance to inculcate
the interest among the learners. The worksheets are given in such a way that student himself can write
the answer with the help of the concept learned from the textbook.

We are grateful to Honourable Chief Minister Sri.Y.S. Jagan Mohan Reddy for being our
source of inspiration to carry out this extensive reform in the education department. We extend our
gratitude to SriBotcha Satyanarayana, Honourable Minister of Education , Govt. of Andhra Pradesh
for striving towards qualitative education. Our special thanks to Sri. Budithi Rajsekhar, IAS, Special
Chief Secretary, School Education, Sri. S. Suresh Kumar, IAS, Commissioner of School Education &
State Project Director, SS, Smt. Vetriselvi.K, IAS, Special Officer, English Medium Project for their
constant motivation and guidance.

We convey our thanks to the expert team. We also thank our workbook writers, editors, artists
and layout designers for their contribution in the development of this workbook. We invite constructive
feedback fromthe teachers and parents in further refinement ofthe workbook.

Dr. B. Pratap Reddy
Director
SCERT, Andhra Pradesh
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ﬁ ¢ This workbook is compiledittphelpithg/studentetormwetiee tookencepts learnt in the classroom. fk;

| ¢ Teachers need to understand that the number of worksheets are equal to the total number of periods |
for every unit.

¢ Everyworksheet is designed to help the students to practice the concepts learnt in that respective period.

¢ First45 minutes for concept teaching and remaining 45 minutes are allotted for the worksheet. If more
time needed, let the learners make use ofthe leisure time at home to complete the worksheet exercises.

¢ The main objective of this workbook is to make the children to work individually rather than in groups.

¢ Here the teacher acts as facilitator and helps the learner whenever it is necessary.

¢ This workbook will be helpful for multigrade teaching. Period transaction for one class and worksheet
exercises for another class. It is a powerful tool to counter the timemanagement problems of multi-
grade teaching.

¢ Worksheets concretise and make perfect understanding ofthe key concepts learnt in the classroom.
It is very crucial in Teaching Learning Process.

¢ [tis helpful for the teacher to identify the areas where the learners need additional support and thus
teachers can work for remedial coaching. It is mandatory to check the worksheet solutions and do
signature.

¢ Worksheets are constructively designed by keeping in mind the levels of the learners and the strategies
followed are simple to complex, known to unknown, and speed and accuracy.

¢ Worksheets can be helpful for the students for selflearning and it is a great tool for teacher to assess
the students for Formative Assessments in CCE.

¢ Attheend of every unit, an Assessment Worksheet is provided to evaluate the student. It is helpful
to estimate the learning levels of the students and to know how well they involve in Teaching-
Learning Process and grasping the concepts.

Instructions to the parents:

¢ Workbooks are given in addition to the textbooks for more practice.

¢ The exercises of the worksheets will be solved in the classrooms by the students, ifthey need some
more time, they will complete the balance of the work at home.

¢ Itisnot only helpful for the teachers to know the students’ learning levels but also helpful for the
parents to know their children’s progress.

¢ Parents can bring the difficulties faced by their kids while solving the problems at home to the notice
of the teachers.

¢ Worksheets are complementary to the concepts thought in the classroom and it should not be done
before completion of the period transaction. Parents should not force their children to complete the
sheets prior to the period-transactions.

¢ Workbook is to make the Teaching-Learning Process fruitful if you are also committed to encourage

your children in a suggested way.

| ¢ Basedonthe remark of the teacher at the end of the page the performence of the student may be
ﬁ*y understood.

ALL THE BEST
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} Pupil will be able to... https://bit.ly/all-classes-new-text-books R
Do the divisions up to 3D +2D.

Do the divisions with 10 and 100.

Do the daily life problems using division.
Check the division.

Do the problems with DMAS rule.

3833

Unit 7: Geometry

Pupil will be able to...
Identify the shapes of three dimensional objects.
Find the edges, corners, and faces of the 3D objects.
Know the shapes and properties of rectangle, square and triangle.
Calculate the area and perimeter of the objects using grid papers.
Know the concept of a circle.
Make different shapes using " TANGRAM'.

Unit 8: Data handling

388833

Pupil will be able to...

Identifies areas of concern in familiar settings for investigation

Makes predictions about familiar situations

Suggests information to collect to answers to certain questions

Decides how information should be collected

Accurately collects and records data in tally marks in tabular forms

Suggests suitable categories to classify the data

Sorts identifies frequency and classifies data

Represents data in different forms Eg; tabular form, pictographs and bar graphs

Interprets and describes information presented in tabular forms, pictographs, and Bar graphs
Unit 9: Fractions

$3$3383323

Pupil will be able to...
Identify and write halfand quarter of a whole.
Divide a given object or group of objects into number of equal parts.
Recognize a fraction and its parts.
Express the fraction as a part of a whole and a part of a group.
Identify and compare unit fractions and like fractions.
Perform additions and subtractions over like fractions.
Apply the knowledge of fractions in daily life.
Unit 10: Measurments

$3$33838

Pupil will be able to...

> TIME: Pupil will beable to lflwe‘{%ht:' il - .

¢  Understand the relation between hours, minutes , seconds . M COI.IVCI' tlograms Ito grams and grams
into kilograms.

>  Read the clock

e Read the calendar *>  Solve problems in daily life situations related

OUR MONEY: Pupil will be able to to weights.
. C) Capacity:-
*>  Student will be able to o o S
. .. ¢ Toconvert liters into milliliters and milliliters
¢  Know the different denominations of our currency. . .
*¢ Do the addition sums involving currency. into liters. . T
. . . *>  Solve problems in daily life situations related
¢ Do the subtraction sums involving currency . ¢ ¢
*>  Solve the problems involving money in daily life situations. 0 capactty.

. . D) Time:-
Length, Welght,'Cap'acny, *¢  Understand the concept of minutes.
A) Length:-Pupils will be able to ) .
To convert the minutes into seconds and

¢ To convert meters into centimetres and centimetres to meters. . .
seconds into minutes.

b T Solve problems in daily life situations related to length.

vii
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SILM DT Division Facts (g°655588 Searen) I

1. Write the division facts and multiplication facts, for the following.

(Bod 3PHss8 TSRO feClri=ste] TPSgen o°0%08.)

a) 45+5=

X =
b) 648 =

X =
c) 77+7=

X =
d) 75+5=

X =

h) Number of 8sin 72 are (72 &° dQ) 8 ev &xma0?)
i) Number of 9s in 117 are (117 &°* ) 9 e» emyow?

j) Number of 5s in 125 are (125 &° ) 5 ev &amon?)

°© 0 ¢ @I
h = S - A e A - 4
Jamarava hites cher.com W a{ e Teaclen

Poor Fair Average Excellent
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SN KO8 Division - 3 Digit Number by 1-Digit Number

QoS Doz 1 ©os B038° rhoso

1. Do the following. (8c& 8o Bahod.)

a) 612+3 b) 484 +4 c) 845+5
d) 480+ 6 e) 9947 f) 960+ 8
g) 6248 h)y 871+9 i) 147+2

OD @D D
ht
Poor Fair Average

& °
maravathi er.com Sippatint of e Teachen

Good Excellent
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Archana packed 112 dhoopsticks equally in 8 boxes. How many dhoopsticks did
each box hold? (©8)S 112 iiHhi&hed Sdredomr 8 3;@@68 f;aao&. 03 &%8& 3;@68 S
©HSIHe dotron?)

a) What information is given in the problem? (& 8%58° & JSraedo am?)

b) What is to be found? (D& 83508%x°0?)

c) Which process do you follow to solve the problem?

(R0 PHOUTIE & (DB iy Er0ersH?)
Archana packed 112 dhoopsticks equally in 8 boxes. How many dhoopsticks did
each box hold? (©8)S 112 iiHhi&Hed Sdredomr 8 3;@@68 f;aao&. 03 &%8& 3;@68 S
©HSRIEe Gotron?)
a) How many dhoopsticks are there? (Sngo JQ) erdSen aanon?)

b) How many boxes are there? (2Q) 28en eano0?)

c¢) How many dhoopsticks did each box hold? (2.8% 288° Iy erthdSen sotran?)

°© 0 & I
https: Nitehcher.com o :
[amarava GoodC er CorTngcellent W o&mwam

Poor Fair Average
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3. Archana packed 112 dhoopsticks equally in 8 boxes. How many dhoopsticks did each
box hold? (98)$ 112 erdhd&hey Ssredore 8 T‘b%@@s 2008, 08 &8’ 33%@38 A
1EHBen Gotron?)

Number of dhoopsticks ( erdosSse Sogy ) =112
Number of boxes (2 o Logy) =8

Number of dhoopsticks did each box hold (e.8%2:88° e eXssgen )

4. Archana packed 112 dhoopsticks equally in 8 boxes. How many dhoopsticks did each
box hold? (e8)% 112 erdhsKess Srsor 8 oS HYod. 08 &8) 2P A
1EHBen Gotron?)

Number of dhoopsticks (eorithsdehe Sogy) =
Number of boxes (2 o Logy) =

Number of dhoopsticks did each box hold (e.82:88° e eXssge )

5. Archana packed 112 dhoopsticks equally in 8 boxes. How many dhoopsticks did each
box hold? (%)% 112 erdhs&ess Srsor 8 2o HYod. 08 a8) 2P A

1EHBe Gotron?)

( .:u N D o
o @ @ httQmaravathl" 'r com 5"5”‘”1“"‘ of the Teacher

Poor Fair Average Excellent
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SN 0TS Division of 3-Digit Number with 1-Digit Number

QorosSe Doz 1 ©os 260%?358 o rtatetnate)

1. Divide the following numbers by 10 and write the quotient and remainder.
(&8 808 a%@aS Soggod 10 & gmRod rifPeo $0cke Fho BOHEHE.)

a) 687 b) 398

quotient remainder quotient remainder
PPRP0 ......... BRO e PPRPNO0 ......... BRO e
c) 289 d) 169

quotient remainder quotient remainder
PPRP0 ......... BRO e PPRRN0 ......... BRO e

What is your observation about the quotient and remainder?

EPKHO0 KBS BHo 0B wideeorr B Koowmest TRaHod.

2. Write the quotient and remainder without performing the division.
PESEE0 BobhHome riHe0, 3k0 BOCHEH8.

a) 197+~ 10= b) 200 ~ 10 =
quotient remainder quotient remainder
PPRNO0 ......... BRO e PPRRN0 ......... BRO e

o & ¢ §.9
amarava Riteacher.com
Good

Poor Fair Average Excellent
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Divide the following numbers by 100 and write the quotient and remainder.

808 Joggoss 100 & grRod grifdeo; ko BOCHEH.

a) 196

quotient

remainder

b) 217

quotient

remainder

What is your observation about quotient and remainder.
EPH00 KBS BHo 0B wdideeorr B Koowest TeaHod.

Write the quotient and remainder without performing the division.
ePHSBE0 Bohorr griiseo; k0 BDHEADR.

a) 190 = 100 =

quotient

remainder

b) 694 + 100 =
quotient remainder
PPRRNO0 ......... BRO e,

o @ @ htt’maravathl aeh

Poor

Fair

Average

aener.com
Excellent

Sippatint of e Teachen
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SN L) Division of 3-Digit Number with 1-Digit Number
QoS Doz 1 ©os 260813558 artatetniate)

1. Frame word problems for each of the following divisions from your daily life.

(8ol ad)S Fritored Jeddd $ogen Trohod.)
a) 2853 b) 6255 Q) 7162

2. Do the following divisions and check your answer.
(Bod griisitoren B2 HOS0 JOEFEE.)
a) 698+9 b) 896+7 c) 725+8

d) 513+ 6 e) 371+9 f) 5263

°c 0 o 8 .0
amarava siteacher.com Sigpatint of W Teachen

Poor Fair Average Goo Excellent
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SN L) (O Division of 3-Digit Number with 2-Digit Number

QoS Koz SoXosSe Eéoapegés artatetniate)

1. Meena packed 408 candles to sell in the market. She put the 12 candles in each packet.
How many packets are there? (o3> 408 SFfhen 2erds® eiyothd rEes® $gob.
&55& 3153&‘568 12 FPHPS S eFeen 33%065. 08 ©erod é‘géég A 22 oenod?)

2. 864 passengers can travel in a train with in 12 compartments equally. How many
passengers are there in each compartment? (864 508 (HdasredZen 12 2 Ko Bene®
(SSredoss Keodo. @EO&%J%@@S‘S BSrdHe SSmbornr &od &@&33%@8 D0 008 (DATredEoen

SOEPK. )

o @ . htt’maravathger com Sippatint of e Teachen
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3. Onan Independence day, 392 students are standing in the play ground. They are standing
in 14 equal rows. How many students are there in each row ? (@o(gs HS°E)S Stoseos®
erisorr 2.8 Srdeost 392 KHod Dogen 14 SBBeE® Jimdorr Jeohand. 08 et
S80St Qe @m&é{g@oézﬁao&?)

4. 192 books are equally arranged in 12 racks in a library. How many books are there in
each rack? (&8 (Hogrechos® 12 woioed 192 Hsten SErSomr o). 08 et
oS ) Hiseen dTmon ?)

Sigpatint of W Teachen

© & < ¢ ...8
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SN LTI Division - Reasoning
i Eo - @65853550

1. Do this division and write the missing numbers in the box.

808 PESB80 Bhod. g Kest 885 ©o8ed Jodok.
a) 9)819( |[] b) 7) 725(10

81 7
9 2

9 0
0 25
- 21

c) 8)987(1 d) 6)969( |61
8 6
8 36
16 36
27
24 6
3

o © © (.6 ©
htmaravathi er.com Sippatint of e Teachen
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e) 32)984(3 ) 75 5 4 9 (7

96

24

0

2. Vinay did the problem in the following way. a8 griss S D8 aer BFD.

9 918 (12
9
18
18
0
quotient 12 remainder 0

Is it correct? if not, do it in a proper way.

30 ¥88 $gz°? sore? DS DBer BRH?

o @ © @ o @
amarava siteAcher.com
Good

Poor Fair Average Excellent

Sigpatint of W Teachen



br All Classes
https://bit.|

6. Division

II-cIjsses-new-text-book

UL R DMAS Rule
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EXPR éc‘éé’é

Simplify the followings (80 =& ‘@ééaoéo&.)

1.

12+4-8+2x3

37-6x4+32+8

35+28+2+6%x9

125 + 625 +25 x 15-250

256+ 144 + 12 x9-108

& © ©

Poor

Fair Average
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SLILM GO Self Assessment
?osta TATerS)

1. Ramani wants to split a collection of crayons into groups of 14. Ramani has 518
crayons. How many groups will be created?
(85068 B85 ) 518 KogEogemd Hres S FBomred ©kHod. o SwrsEos”
14 JogLnBen 08 ©erod A DKoresiBen 30‘3)66:353)?)

2. There are 37 students in the class and 777 playing blocks. If the blocks are divided
equally among the students, how many will each student get?
(.8 BBKBE® 37 08 Hen H0B05H 777 et FPHA Zo. @ér PHOD 37 Hod Jeed
SEmdore HoDdEond es%EBE Q) HJeow?)

©o 0 T .50
httes7//amarava 0cher.com W%I&Tm
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3. 1f950 kg of rice is packed in 95 bags, how much rice will each bag contain?
(950 &.(ov. Aoigsndo 95 B0t ddrdorr &rd b‘ggédﬁ)d@é&. 08 2.8 $0DSE Ko
Dadgsn FPHoDos?)

4. A bus can hold 48 seats. If there are 12 rows of seats equally in the bus, how many
seats are in each row? (.8 ax)&® 48 08 ey SErdorr 12 $Hdes® samon. 08 et
SB538 Ho Dey dY?)

5. If you counted 120 hands in your class, then how many students are present in the
class? (B3 &8 S858SE° 120 Bthen BHDGITB, SEKBSE® Jo& 0d Dregrhen GINH?)

® o 0 o0 o
htt’maravathl eher.com Sippatint of e Teachen
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6. Jyothi wrote out her composition in 976 words. On an average, each line contained
16 words. How many lines did Jyothi write? (%8 9765mreo8® a8 a=ko oodob. &8
BB B 16 Horen TRZBE A HEeE® agbo TRos?

7. 880 tiles were purchased to cover the floor of each class room of a school. If each
room requires 84 tiles, how many class rooms could be tiled? How many tiles were
left over?

(2.8 DB SBKS KeSh Bey (Deden) HBETEI8 880 Hoden 0R%en DR, 2.8
B8 84 Hoden @XIEB O FrEM A BBHE Kot HE)HE). Bose AP HDoBen
QorHensedie?)

8. 600 apples are equal to how many dozens? (600 ci8S Dot A EeyEd JK0?)

@ O O O O
[amarava Good cher CorTngcellent W a& m TWKM

Poor Fair Average
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9. Guess the answers with out performing the actual division.
(ePK55880 BOHBOT HOB0 WOBTHON0E.)

a) 498 + 10 b) 789 = 10 ¢) 608+ 100 d) 987 = 100

10. Do the following ( 808 zPiSEES0en Bchod.)

a) 24)7493[ | b) 41)798(| |9
72 4
2] T
24

o @ . htt’maravathger com Sippatint of e Teachen
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SN L O Edges, Faces and Corners
QOHLN, 0P WO NoTroen

1. Count the number of edges, faces and corners of the following figures.

(8od Dére woibhen, Sngren, Srow 88)0d Teabod.)

|
Object S350 /

Edges (@oHoe)

Faces (&eren)

Corners (8ogo)

2. Write the names of some objects you know that slide.

(&% 3028 SN &0 SO DB TraPos.)

3. Write the names of some objects you know that roll.

(% BODE T &Y 090 D T°aH08.)

© @ © @ & St of e T
hitps7/amarava oCher.ConExellent o¢ el

Poor Fair Average
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4. Why a book slides and a tumbler rolls?

(HXBo PBr&H0d 585D FESH 5B JokE?)

Book slides because it is (flat/round)

D80 ePLEH DoHEoE ©b (F88o [ tHoligo) ™ &otdlo.
Sphere rolls because it is ( round/flat)

ORIy G060 DoHE0E 9 (HolEo [ $&Bo) e &otHd.

5. Among the objects given below, circle the objects that do not have neither edges nor

corners. (8ob 25@2@@@38 ©oHen, Sreen 8 B8 Ko o%y” éaéao& )

o @ . htt’maravathger com Sippatint of e Teachen

Poor Fair Average Excellent
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IO Geometrical Shapes
PsED esPTEen

1. Write the names of the objects which are in shape from your surroundings

® $8%Trest esedo Ho §°Q) SyHe '§3t§9, o0&, )

2. Write the number of edges and corners for the adjacent shape

(S8 Her8 @othen AY? Soroen A?)

3. In the adjacent figure the length of the side,

opposite to the side having 80 cm length is 50 cm
and 50cm is
80 cm
(@é& $56308° 80 20.80. o8 Ko £H3E0E vereerieerannn, ©OLTR.
50 20.&. Bod Ko gHRE8050 v, ®OEXR. )
4. The lengths of the opposite sides of a rectangle are (equal/not equal)
(a8 5&5})6&36@0@35 DCBEDBD EHEPED vevvnnrrrennnnnns (BSdo [ d&rdo =2))

6. Draw a rectangle and mark its length as S5cm and breadth as 4cm.

(5 20.8. FEDH, 4 0.8 Iken) Ko 5&5}){5&6&60 AcH08&.)

@ @ © ©.0.6
httes7/amarava 0cher.com Sigpatint of W Teachen
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IOV Geometrical Shapes
PsEAD esPTeeD

1. Number of sides and corners of the following shape
BRES HErd8 gheren A)? Soreen I?

sides ghewen =

corners SNoeeen =

2. a) Measurement of each side is (& gheso )

. : 6 cm
b) All sides are having measurements.
Herost Q) 8Dere E'OBD ...uvvnnnnn. e GT70.
. : 6 cm 6 cm
c) This shape is called
SIS oL U 0EPLd
6 cm

3. Write the names of the objects which have square surface.

(SHBRPsEH Boo AL §Q) wseore ) T°aHod. )

4. Write the number of sides and corners for the following shape.
BIRES HEXNIL gheren, Jureen BoDHod.

sides gHazeen

corners doeoen :

5. Ifwe cut the given figure along the dotted lines completely, then the number of triangles

we get A
get_ \\\ /’
2O)S eebos® H5e Aben SrN0dS grrrd) 5807 A N
7N\
(Bgheen DEYEE00? /7 \\
/’ N

o @ . htt’maravathger com Sippatint of e Teachen

Poor Fair Average Excellent
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IO Geometrical Shapes
PsED esPTEen

1. Draw some triangles with the help of scale and pencil.
(&) (Bheredr e, 750&@ D580%08° AcHod.)

2. Draw the net diagrams of the following objects. (8o& $de Sedrares oradod /Acdod.)

—— i T,

) <
Action, =
f orinaiain

@ @ © ©.0.6
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Perimeter
iﬁaé% o

1. Find the perimeter of the shapes given below?

B aésa:&:é [Tl oplD) iﬁ:@wg"oéw oS, )

a) 6 o
4 cm
6 om perimeter = cm
7 om zﬁaww?oéé = 20.8%.
S
QoW Cmy
b) 8 om 2 em perimeter = cm
SepEod = 20. .
8 cm 8 cm

2. Perimeter of a square is 32 cm. What is its side ?

a8 SBY(R0 HenSed 32 o. . 08 & S&HKo Rog), gheso Dod?

o @ . htt’maravathger com Sippatint of e Teachen

Poor Fair Average Excellent
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3. Perimeter of a triangle with all equal sides is 24 cm. What is the length of each side?

(99 gheen Jedorr &oG 2.8 (&gDezo @Dé&_ iﬁa&gg"@e‘é 24720.&. ©wand, e9(Bghes gheso
PEY) Noek?)

4. Perimeter of this rectangle is 30 cm. What is the breadth of the rectangle ?

(8o =S 525}36636&60 HepEod 30 o. . 08 e &giséaé@o SNy d0&?)

10 cm

10 cm

5. Find the perimeters of the given triangles. (&rHs a3 (Bghere SépSloden S0k, )
a) b) c)

6 cm 10 cm 7cm 7cm 6 cm 6 cm

8 cm 7 cm 5 cm

perimeter =
SepEod =

perimeter =
SepEod =

perimeter =
SepEod =

© @ < @5
amarava q cher.com

Poor Fair Average Goo Excellent
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Perimeter
iﬁaé% o

1. Colour 4 adjacent units on the grid paper and find its perimeter.
(2 P& B85S 4 ﬁ%‘%)éa DHHES 080D S BOMHB0N0&. BoHINS ezdo SwE)
rﬁag?oé 20&?)

2. Colour 5 grids diagonally and find its perimeter. Perimeter is ................
@S (A& DS 5 Kidren 2.8 el Harod Ko ES T8er 1808, BorHenscHod. HHoD
¥sP80 QE) HeREo Jod?)

o @ . htt’maravathger com Sippatint of e Teachen
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3. Draw a square on the grid paper whose side is 4 units. Find its perimeter.
(AEDHEE® 4 cordeSe gheso EOAS 56536@%001 ACHOR. & Hero SwE) zﬁa@w?eé 0&?)

4. Draw a rectangle with length 6 units and breadth 3 units on the grid paper and find its
perimeter. (899 AEDBES® 6 0.8, EDH, 3 0.8, Iken) Ko 5&5}36@36&60 AcS08.
ARS égfse‘éaé@)o TE) HEPEeE JoE?)

O
athiteAcher.com Sigpatint of W Teachen
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Sub Topic : N
S0

1. A flat floor surface occupies 45 tiles on it. Then the area of flat surface is ...... tiles.

(&8 Jhdoorr &3 Jop 45 Do ©HTHD. HoBen SN Sodn ITe50
DoBe FTPegEndt D°K0. )

2. Atop of'table occupies 30 equal sized papers. Then its area is ————papers.

(&8 BanS oo JErd HOXrw0 (Rego) ¢ 30 SATrOD DT, 08 @ Had oo
JTeL0 —————— NEPY 3TeIE Kb, )

3. Shade the area of the given shape. (@) @s°8iws® Jarerd) SrdodH (HIz°I8
BoHS000&.)

o @ . htt’maravathger com Sippatint of e Teachen
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4. In this figure length of AB=12cm. Length of BC =8 cm. What is the area of rectangle

ABCD?
2% 0o ABCD &° AB €04 =12 0.3%. A B
C
gHeso BC &S =8 0.8
08 HEO (853 256808(50) DBeR0 D0o&?
5. Area of the adjacent figure =........ units.  (8ocs BN B0 JTPego —————— JEEY

05reeD)

o0 T 9. 0. @
https Sehcher.com :
[amarava GoodC er corTngcellent W oémTWKm
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Area

1. Draw any shape on the grid paper with complete boxes

and find it's perimeter and area in sq.units.

2. Draw a square on the grid paper of 7 units side. Find its

areain ............ sq.units.

3. Draw arectangle on the grid paper with the length 8 units;

breadth 6 units. Find its area?

4. Draw a rectangle on the grid paper with length 6 units

and bredth 4 units. Find its area?

o @ . htt’maravathger com Sippatint of e Teachen

Poor Fair Average Excellent
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wodo:

1.

SO 1) RS0t HFT 5 570 aF-pSY BorHenas
eS8 B Jerego EATI0E.

!
g

20en S
)

S3°eg0 = He5B5Y A0TeAER.

7 BardeSo PEDHRY) e SBBEo Achod.
& JHBR Srogo BHEQOE.

BEBROSTOZ0 = oo LBy 050 EY.

B AEDHES® 8 csurediSe &K, 6 Ardee
3oy Ko BEIHIHo Ad Szego BSOS,

5§D BEBD SBOFO= v LY SR,

(A& 08 3 6 S5y KD, 4 chrdey Iten)
Ko BBSHYY Aohol. R erego X808,

Average

D D oD
amarava Riteacher.com
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SILMEN O Circle
JHgo

1. Name some objects which are in the shape given. (8o ad)$ es*dos® &od Q) Snde
%) Tec%08.)

@,

2. Draw a line along curved edge of a bangle, plate, small water bottle cap. Write the
names of the shapes you obtained. (@&mve, 0 5w (DY), b erdS Kweds;
IwEBS S RS0 DY T woihe Jond AcHod.)

3. Draw three circles and colour them. (8%% a)¥ A0S’ 3 Hzreo Adbos. B8
Borhen &c‘go&.)

4. Take a chart and draw a circle. Cutit around. Identify the centre, radius and perimeter
of the circle.

(2.8 oD a8 HFo Achos. T8 So(o, TgrE0 50k HOFHek HgoBod. )

5. Make different shapes with a Tangram you prepared.
(ErS(ro ScirHBchod. B8 DG wseTren wBYok.)

o @ . htt’maravathger com Sippatint of e Teachen
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SUILMEITEE Assessment I

1. Draw the shapes and write the names of the objects which are in the shapes from your

surroundings.
S.No Name of the shape Diagram Names of the objects
1 Rectangle
2 Square
3 Circle
4. Triangle

2. Write the number of sides and number of corners in the following table for the
given shapes.

S.no Name of the shape Number of sides | Number of corners
1 Rectangle
2 Circle
3 Traingle

3. What is the perimeter of the given shapes? o

3em 4cm
6cm

6om 10cm 6cm

6cm
7cm 5cm

6cm

8cm 6cm

4. Perimeter of the rectangle 1s 50cm and its length is 15cm. What is the breadth of the
rectangle?

@ o ( ) ' m Q m
amarava e cher.co W o{ e Teacker
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1L & 568mres® s K5000D8 SikHe eseTred é@éé‘g B woTw Wrborr JoHod.

K.%08 @80 (egelelall:1e) w808t Ko ST
1 égiﬁe‘éﬁ@%“éo
2 LB\ Jese80
3 QB°E°B0
4 (&gHersedo

2. 3O ezvored @owhen, Kroen ool

2.%08; W80 D& oo DHogy Soree $ogys
1 625})5@36@8*360
2 QB8O
3 (BgHerseSo

3. =) esPTre -256%3)?&)@@263 ERPKS0&.

6 20.5.

4. 535@536&60 ) DépEed 50 20.8., e PED 15 0.8, 08 e égzﬁééaé&éo g S
Do&?

"l!!l"[:I (::::::j[] 1‘i!!;l'[:
ht
Poor Fair Average

Excellent
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5. Perimeter of a triangle with all equal sides is 15cm. What is the length of each side?

6. Draw a square on a grid paper whose side is 6units.

Find its perimeter.

7. A top of a table occupies 20 equal sized papers. Then find its area.

8. Draw a rectangle on the grid paper with length 5 units and
breadth 4 units. What is the area of the rectangle?

o @ © ©.60.6
httes7/amarava 0cher.com Sigpatint of W Teachen

Poor Fair Average Excellent



) 7. Geometry

br All Classes Ne @33&Ipen Below L
https://bit.ly/all-clgsses-new-text-book

o) ghere Sriden JrSorre &) a8 ([Bgbeso eSO 1520.8. 08 a8 ghezo LD

Do ?

B AE DHHS® 6 csrdey gheso BOAS S8R0 AcHoE.
@ SEYRO0 DERSoE Jod?

2.8 Band 00 20 SgseAzren (HEHBHP o SoHoze DoND. B8 Sawd GEnE) Seo

2 (AE DBES® 5 crdey KD, 4 rdéy Bken) &)
5&5})6636&60 AcH08. e (5&5)){5636@)0 STOL0 D0B?

o @ . htt’maravathger com
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SILMEN I TALLY MARKS

1. 25 children of class 4 got different grades in maths exam. The data is given in
the table. Write tally marks.

| Grade No. of students Tally marks
A 3
A+ 7
B 8
B+ 5
C 2

2. The following table shows the number of students absent from the school in a
week. It is given in tally marks. Write equivalent number for the given tally

marks.

Days Tally marks Number of students absent
Monday Il

Tuesday i

Wednesday M

Thursday Il

Friday I

Saturday |

3. Prepare tally marks table for the given data. The data is about the favourite
game of the class.
Cricket, star, skipping, star, tennikoit, cricket, skipping, cricket, star, skipping, star,
tennikoit, cricket, skipping, cricket, star, skipping, tennikoit, skipping, star, cricket,
star, cricket, skipping, tennikoit, star, cricket.
Game Tally marks Number
Cricket
Star
Skipping
Tennikoit

a) What is the least favourite game?
Which games are liked equa llv‘?

© @ O 0. .0
flamaravatk e cher.com Sigpatint of W Teachen
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o)

1 K88 H0ES° 25 Hoob 435 EBK8 Doghe [ithe BErmdo 8ob HBES° aftwlod. =& Kol

D0 Teohol.
0% | $85588% e Kogy Head DFHeo
A 3
A+ 7
B 8
B+ 5
C 2

2. 2.8 8o’ FBod et 3):3"5630 Qdogyg 8od ‘o’aééés Head DHo Togoe Beodalla.
© Heod DSHoH BOB% Yoggd Sodod.

TEE0 fead DFHen Sestose 8)::’353@ Sogy
Poaed0 Il

Soor¥ar80 il

20BaPE0 il

HBardo Il

HEzrbo Ji

IAB0 I

3. 2 Jdrordo erprdorr Hed e éééz& E5rs Bchod. o8 S8Kes 8):3"56@30%:
BRDS @& 900N JSdrardo aFPEIA.
(&s¢5, 3638, o, 338, BApeand, 888, arnew, (8845, 335, ST, 338, BYzeondd, (8865,
o), (8865, 358, o, BYsPan, BT, 335, (&3¢, 335, B3E, somre, BYseands, 3;5,
(&36S.
ot
(&8¢5
RS

BT

Bead0SBen DS 0 Bogg |

Byseontd

®) éééaézé Sood a 56 ety HB?
S) D 3R déﬁ?ﬁom a{&éc‘ﬁaé)ag&?

o @ . htt;’xaravathlgr com Sigmatint of We Teachern
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LI PICTO GRAPH READING |

1. Four children wanted to donate some amount to a nearby orphanage. For that,
they have collected some amount as shown below. If © represents 10, howmany
rupees does each child has brought to donate to the orphanage?

Name of the child | Number of pictures Total Rupees
Vardhan ©0O00
Dolly OO0
Ganesh ©0O
Begam COO0O
a) Who collected more money?.......... how much?.........
b) Who collected less money?............ how much?
c) Who collected equal amount?.......... how much?

2. The following is a pictograph showing the information about number of eggs
consumed in a week in a primerary school The scale is given as «®» =5 eggs.

Day Number of eggs consumed

Monday 'Y Y X X X
Tuesday " X X X X
Wednesday ooooooOo
Thursday " X X X )

Friday “Y X X X “»

Now, observe the pictograph and answer the questions given below.
a) How many eggs are consumed on Thursday?

b) On which day, the maximum number of eggs are consumed?

c) On which day, the minimum number of eggs are consumed?

d) Total number of eggs consumed during the week.

hllﬂ!- .I/ c hel 1 ! l
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1 Senrbhds dyes od L 652(5663 &%) OTEHZ0EH DoEo aTeHHTYD. workhEito

% §Po8 S 8ol Wrdd dForr DEBom. © = T 10/- wond a8 e Qo
P OTPEREHSNEEH JoeFo aRd.

D0 Yo ﬁ&é@ ‘éospé [odo Braradhen
égS ©CO0O0O
&od ©COO00O
KBR ©OO
Ko ©COO0O0O
®) N JEND @“Eﬁw& DEBOTE? e QoE?
®) N SENH @“2500& DEBOTE? e Q0&?
Q) QDB Jddedore %3"2533& DEBOTOE? ... Q0&?
2. 800 BedBo a8 (FPME FET S0 2.8 oSt DAFTPACDS 1HE BEPTTR) BeoDHH 0.
oo @ =5 0§
&e DAEFRODS
L X X X X X
st | @b @ @ @ @
G0 'YX X XX X
G X X
Bpaco . X ¥ N ¥ X

2 H0DER) $0800D BN BHed SLrgrdo Trobod.
®) HHDTE0 DATPACDS DK dN?

) DS Q&N 1y DARPACBEID?
3) O8%ed L5 1Dy DARPACBEID?
&) © 57808° QAGPACAD Fwdo HE) J?
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SRS BAR GRAPH READING |

1. Some children attended a function with different colour dresses. This is

represented in the bar graph given below.

1 Box = 10 Members

7

6

5

| I

3

2

1 3 I

0 T T T
Red Green Blue

Yellow

a) How many children attended to the function?

b) How many children are in green dress?

c) How many children are in blue and yellow dress?

2. The bar graph shows the number of hours spent on playing games by the

students of class 4 on Sunday.

a) How many students playing
spent an hour on playing
games?

b) How many students spent five
hours on playing games?

12

10

1 Box = 1 Student

| I I I I
1H 2H 3H 4H 5H

c) How many students spent more than 3 hours on playing games?

d) How many students spent less than 4 hours on playing games?
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7

6

5

| I

3

2

1 3 I
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5D DY) deoo

&
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Q) o0& Hod 8)(3;3&%@ oo LB HoDH SFren HBoweL?

2. 45 88588 8):3"563@ b0 S ARy Hotoer wéven wihdr BEHTE ©F JEraTeR) &8

SRR Ewoog)zé;
148 = 1 9050
®) &8 Kot S estren etHEr o
BEDD 3)55;3&%)@3 Qogy DoB? gﬂ .
9
8
©) 5 ot BEa) st ethde |5 ¢
BEDD @Wé%)@) Qog)y DoB? :
- 150n 2% ' 3%on  4Xon  5Xon

8) 3 Kot Bod NEND VAR eéren SOEP BEDD @mﬁét%e; Doz DoB?

&3) 4 Koo o& ééé)&aé D0ase) estren estHEe BEDS &mﬁét%e ‘éogp?g 0&?
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SILM OO ASSESSMENT

1. Write the tallymarks for the following data.

Game Number Tally marks
Cricket 8
Hockey 5
Foot ball 7
Chess 4
Kabaddi 6

2. The following pictograph shows the varieties of fruits sold by a fruit seller.

Scale: 1 fruit = 10.

Fruit Picture Number
Mango | O 0 0 6
org: | B ® [® (@ ® @@
Avle | @ ¢ & ¢
Guave kf ki k
Banana [\ | N [\ [N | W | N | Vo [N
Now, answer the following questions.
a) Which fruit is sold more?
b) Which fruit is sold less?
c¢) How many oranges are sold?
d) How many fruits are sold totally?
® § © ©.6..0
h¥ps*//amarava e cher.com Sigpatint of W Teachen
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- EEEE)

1. 808 TN Ve ord8 Bead DSHeo TPODo&.

(T Qogyg 2o en
(&s¢5 8
58 5
DeSerS 7
ihatelelele 4
éaacz, 6

2. 808 B NES Hoy A0 AN Bere Hory WS VST BOHUmD.
Jeo: 1 Hotd = 10.

S0 QS0 Loz
e (OO 0 0 00

o2 @ @ |9 9 9 ® @

el AN A0 AL 2K )

= L | |

88 | W (N (N | N | N | N [N

808 adbsd (BHod Shrerbo Tehol.
®) & Hory TP eH?

©) & Do SN @XrYDH?
8) A TPOoe: HDOFKD @&6)@&&63?

&3) oo @8)3&26 Doy 2 ?
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3. The following bar graph shows the number of parents who attended the parents
committee meeting. (Bod 88y Tgre QB $PLobe Ed JErATIB $FaBS 0 oo

SedR.)
1 Box =5 Members (1 5& : 5 5% ghgen)

8

7

6

5

4

3

2

1 -
0

Father Mother  Grand Mother Grand Father
(%) (@zéaé) (@é?ﬁa&) (@'oééo‘ﬁa?g)

Answer the following questions. (8o& B dSrgrarer T°ahol.)
a) How many persons (i.e mother, father, grandfather, grandmother) attended the
meeting? (Do K08 Behgen SErETI8 FesBrd?)

b) How many mothers attended the meeting? (o8 08 Bepen XTSI FeBH?)

c¢) How many grandparents (i.e grandfather and grandmother) attended the meeting?
(Do Lod @ﬁéo‘éaeg/ aﬁzézéaé/ &9&63&253&@ D5oR53008 PFesBen?)

© 0 T 9.9.6
https/ Riteacher. :
amaravathitegcher.com Sigpatint of W Teachen
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EQUAL PARTS |

OO0 ¢ DIPJ PPeD
1. Tick (v') the figures which are divided into equal parts. (Hogrrrenrr &5BoSasS DEredd

9800 (V') Sy, es0k0d. )
v Ao v Xoe <o « Do

2. Shade half (%) of the following figures. (808 Aeres® o8 drrdé (%) BorHIcH08.)

NP 5 5

3) Observe the following pictures and divide them into equal halves.

(808 YEren HB8D0D), T 2 J&S grrrenre DgfLoBod.)

RaN s ARNLLY
(Te7T  man
) , , , 000 ®

. . e L B B

o 9.0 ®
httpss//a :
pGoocl aravathi er.com W“&IK‘TU“K"‘
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ST T EQUAL HALVES

OO0 ¢ DIPS PoMPLD
1. Colour exactly half of each picture. (8 DFos® KKerrrd8 SorHRoHod.)

2. In the following, half of each figure is drawn for you. Complete the remaining half.
(BRHDD B0 D{Eeedy SrE@sd BEo 2dhod. HADS grrrl) Fr Behod.)

1L 4~

3. Which of the following figures shown are exactly half? Mark them with (V")

(Bod D(zres® O Korp JrR) KrdJiaw? &8 (V) K8 Dgos.)

- -
GD %DD ]

4. Which of the following figures shown are not exactly half ? Mark them with (v)
(Bob Ageod® HD orP JreR) FedosH? 88 (V) 198 2é0d.)

[ ] [ ] [ ] [ ]

©o § ¢ @.49.6
amarava Rite4cher.com i
Good

d

Sigpatint of W Teachen

Poor Fair Average Excellent



S i 9. Fractions e T

br All Classes Nw Open Below L
https:/bit.ly/all-clgsses-new-text-book

m: m PART OFAWHOLE I

oo . Emézéwess QIPITPL0

1. Shade 3 of cach of the following. (58 BEe&® & grrisni £ Sabos.)

2 2
2. Shade gof each of the following. (& Qos® 38 Fis 26 R0%08.)

1 1
3. Shade gof each of the following. (K& Q(Bos® 38 Fis 26 B0%08.)

o @ . htt;’xaravathlgr com Sigmatint of We Teachern
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m : m VOCABULARY OFA FRACTION I

©odo I D{HIw - Sleroo
1. Complete the table. (808 &5 grdosok.)

Fraction Total Parts/Units | Shared parts [To be shared parts
AN oo B gerren/adreln DOND grrren 0ROV grrren
1
3 5 1 4
7 4
3
11 3
9 4

2. Fill in the blanks in the given table. (20yS é@éeﬁs grden HredoHod.)

Fraction Numerator Denominator Fraction Read as
AR [SEVPNWY) EO oA W) NN 363 dgrdo NN ), @go

2
3 2 3 two third 2 out of 3
4
T _ _ _ 4 by 11
- _— — — 3 over 5
8 8 out of 10
10 —_— —_— —_— out o
5
5 - — 5by9

hllﬂ!-.ll c h r. 1 ! l
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Write the fractions represented by the shaded part in the given boxes. (& @8 gerred) O
GrHos BoHo’. RS KES® TPcH08.)
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ST FRACTIONAL NUMBERS]

1. Write the fraction for each of the following fractional numbers. One has been

done for you and vice versa.

Serial ) Fractional | Serial . Fractional
Fraction Fraction
Number Number | | Number Number

3 .

a) Three fourths — f) Eleven-Fifteenths
5 6

b) s g) 7
1 .

c) 3 h) Two Thirds L
8 1

d) F 1) P
9 .

€) 10 ), |Four Twenty fifths

2. Do the following
5

a. Write the numerator of the fraction ry

b. What part of our national flag is green?

c. How many quarters make a whole?

d. How many quarters make a half ?

©o 0 T e.6.6
Poor Fair Rréamarava od Cher'‘."Onlqixcellent W 06 e Teacken
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©oJ0o :

1. 808 o358 Brarer &’ BN P éoaa?soé's, Logrg ot AR YY) ©F SErHost

TPOHO&.
8o Ao Doy 8o Ao Doy
: Y0 ©FY Brdo = 51| € A0 BB Brdo = o
éosp?g BeHo
3
®) oeesd B TeenrDd 1 #8) DS B DO
5 6
) 3 2) 7
1
3) ry &) BotHd B St
8 1
9 .
&) 10 ) TP B 88380
2. 1 BIHOA.

5
®) ry 5,)26&068 O©N0 NO0es?

&) K3 epdohBores® o griso @éoéiﬁnjéoﬁ) 8OA &0enod?
Q) ) P Ferren EOD a8 FrY griio wHEod?

88) A TP gerred el @g 5er P8 Vb0 ©9HEod?
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Eﬂlm WORD PROBLEMS I

©odo ! TESH
Do the following. (29 Zc%08.)

1. How much does a quarter and a half become?

(28 PH grio, a8 Jkerio B Do grio ©HBoH?)

2. How many halves make a whole? (%) $rren 893 &8 00 g0 @9&06?)

3. How much is the half of 60? (60 &® $ko dog?)

4. What is the numerator of —‘? ﬁ & oo dos?)

. ) 3 3
5. Write the denominator of E? (E & o Dos?)

®© §§ © 9.2.90
'amarava cher.com
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R S UNIT FRACTIONS]

©0d0 ¢ LRI PTen

1. Identify the unit fractions represented in the following shaded figures. Mark them write
(V) in the box.

(B8 3% zres® cbrde Damedy K80P08. &8 (V) &ty 608.)
AL X % 9%

2. Identify and write the unit fractions from each of the following groups.
(ol =S (238 JSresros® e ol 1HBo Tehok.)

11321183 by L 21391138
a) 2757473779399957 ) 874747673’3727117
49316978 o 283316978
) 5°2°4°9°13’5’3’9" ——— ) 7°9°4°9°13°5°3°9°

3. Circle the smallest fraction from each of the following groups.
Bo SIS (B8 Jddesost DY) @a&@% “y” iﬁ:%go&.)

11117 1 b 111 1T 1
Q) %3175 ) 616°26°15736°
111 1 1 111 1 1
) 30°20°10°20°50" D 1 5m051s

4. Circle the greatest fraction from each of the following groups.
(8o BN (8 SSoesros’ ?otg @ag@é oy iﬁ)éégo&.)

3°18°6°28°19

o v TLE ... ©
httpsilz thitseeHor. :
pGood arava IExceIleﬁ{. com aM&T
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SN COMPARISON OF UNIT FRACTIONS
oo o o‘SJPFDéS PTeo

Cy . 1 1
1. Which 1s smaller 50 g ? (— A0 DY) PHEm?)
2. Whichis greater — or — 2 (= . & 56 25 O5y50?)
) ich is greater = or - 5 25 8 Yy

3. Write the correct symbol > or < in the given boxes. (8o8 o a8 H08000 &
2.6;(55 > g8 < 5ol sod Wagezéo $0BHos.)

1 1 1 1 1 1

ik b) 513 ) 55

1 1 1 1 1 1
) U5 © 20 1o n s U35

)T 7153 10

I 1 1 1 1 1

119326106

5. Arrange the following in descending order. (8od dm\o ©55%ren (Eos® Trabod.)

I 1 1 1 1 1

11310023 7" 15

b) 55 Ea 2_57 ga Ea 5

© § © 9.2.90
'amarava cher.com
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SILMEIE LIKE FRACTIONS

1. Circle the like fractions. One is done for you.

3 2 3
Ex: = - -
@ 4 5 @ 8
g 3 4 7 2 6 3 !
3 5 3 3 7 8 3
8 2 1 5 7 3 4
R 7 9 3 5 2 9

2. Circle the fractions other than like fractions. One is done for you.

1 2 5
y 2 2 7 3 3 4 3 7
a 7 6 5 8 6 6 9 6
1 2 3 2 9 6 8 7
0 3 5 7 3 3 7 I 3
3. Write the like fractions of the each diagram.
i i b) @ o LI [ ]
Shaded part Shaded part Shaded part
Unshaded part Unshaded part Unshaded part
d) e) f)
Shaded part Shaded part Shaded part
Unshaded part Unshaded part Unshaded part

o @ @ " \ k‘ﬂj\ ‘ D @
https aravathit

Saeker.com Sigmatint of We Teachern
Poor Fair Average Excellent aé
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@o%o: QP8 Y™ l

L 8 Yoo <X’ higol. 288 Hos8k0 Sohadod.

-

b

o 3 4 7 6 3 1
3 5 3 7 8 3
o 8 2 ! 7 3 4
9 7 9 9 2 9

| wo
(S
MDA STE>

2. $erd HIyen SOTE KoKy hyod. 288 Ho8k0 Sohadobd.

& 1 S z S
o 4 4 4 4
) S 2 7 3 3 4 8 7
® 7 6 5 8 6 6 9 6
) ! 2 3 2 9 6 8 7
® 3 5 4 3 3 7 11 3
3. (8 D@8 Jerd HI2en T°Ahod.
08 B2 griso 08 B2 griso 08 B2 grio
08 DoHY grio 08 DoHY eriso 08 DO eriso
&3) &) &3)
08 B2 griso 08 B2 griso 08 B2 grio
08 DO eriso 08 DoHY eriso 08 DoHY eriso
© §§ © 9.2.90
'amarava cher.com SA,W o e Teacker
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IO ADDITION OF LIKE FRACTIONS I
wodo : Verd e ErEE

1. Observe the following patterns and fill in the circles. (808 @880k HB8D0D, QTeOH

57603508,

2) @+ @=1

b)@+@+@=1

) Q+Q+Q+Q= I

d) Q+Q+Q+Q+Q=1

&) Q+Q+Q+O+Q+Q=1
2. Add, shade the following and fill in the boxes.

(B8 B8 grrred 78, KIS DHE» 32 HOQ) b FoHos.)
) L Al

. =
[ 1] [ 1] [ 1]
N =
[ 1] [ 1] [ 1]
+ =
] ] ]
+ =
[ 1] [ 1] [ 1]
O O O O P\
9 @ g;:ge httaravathi”etr.com Signaturt of e Teacker @
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SR 18 COMPARISON OF LIKE FRACTIONS]
©od0 : Jerd T VPeyko

1. Write the correct symbol > or < in the given boxes.

($3% 108 > B8 < 1g)6° ool )

2 4 3 8
s 13 2. o5

5 6 3 1
;L3 LR b

20 10 9 5
5. 51 7 6. 1 I:I 1
11 13 5 13
ol 8wl is

2. Arrange the following in ascending order. (808 damyed @8%5ren o8t Trehod.)

11 7 21 3 13

b 33 ’ ) » ’

3. Arrange the following in descending order. (808 o @$&%ren B0’ Teahod. )

14 421152

Q) 0 3727277 27 ; ) ) ;

11 4 14 7 13
b) o oo ,

15151515

o @ 'amarava’cher como
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SR I1H COMPARISON OF LIKE FRACTIONS]|
©0d0 : D8 o Peyko

1. Encircle the smallest fraction. (D) T8 “oy” eﬁaecgo&.)

)lil_ii b)lilii
) §°8°8°8°3 9°9°9°9°9
) 153 6 48 d)iLilﬂ
RARTRTNT TR 12°12°12°12°12

2. Encircle the greatest fraction. (¢ x208 “g)” Héod.)
5 17 5 20 10 2
2172121721721

3. Shade the following figures as per the given fractions and then compare. (8o& 20)yS
DX BOHD Do & D, Do Denod. )

2 O0000O0 000000

2 >
6 6

by OOOOO0O0O0 OOO0O0O00O0
4 2
8 8

o OOOO0OO0O0O0 OOO0OO00O00
3 8
9 9

ol:l @D @D
htt
Poor Fair Average
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ml m FRACTIONS — WORD PROBLEMS I

wodo: P - TPESH™

5 : : : 2
1) Froma ry long piece of ribbon, a piece of length o Was cut off. What was the length

) 5 2
of the remaining ribbon? (- grifo 87653 &8 ORS $0& | griio EGBoTrLh. 08 HADS
grifo Do8? Y ErHos® BoHod.)

9 6 ) .
2) Kishore ate —of a pizza and Adi ate — of another pizza of same size, who ate more

10 10
and by how much ? (888 2.8 0383"638 :5 geifo BINKD. ©b werod HEE omvé‘s
griio BTN, DB BN 0383;’ BTnL. aoéé BN grrio BIN?)

2 4
3) Balu travelled — | part of his journey on the first day, 17 parton the second day and
3 : . . .
17 parton the third day. How much part of the journey did Balu cover in three days?

(eren &5 @050°€®O€38 — 25 g0 0K 68&0 — é eriso BokS Slew, — 25 P50 oTeED
Shex (HosreBomei. 2533065968&0066 &80 @305?5%05326 BrB0 Doe?)

® & © 9.2.90
'amarava cher.com
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3 5
4) Madhulatha used 10 of a meter lace for her apron and 10 of a meter for her dress.

How much part of lace did she use in all? (5ohe8 &5 @SS —:é grio Bk &5

(0%, Eé grifo TR KT8 (KB DABrA0D0R. Iwdo DITPA0DS B grio dod?)

3 . . 2 . .
5) Jamal ate = of a cake in the morning and = of the cake in the evening. How much part

3 2
of the cake did he eat in all ? (z5rS 2.8 S 725 g0 &Edo, 725 grifo Jrado(Bo
BTN. 08 wSrS @é&éé} S0 grRio Doe?)

o © @ 6.9 @
https aravathlt ac

fer.com Sigmatint of We Teachern
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SILM OO ASSESSMENT

1. Shade half of each picture given below.

3
2. Colour 2 of each of the following pictures.

aVa t+

3. Write the fractions for the shaded parts in the following pictures.

[ ] ] O

4. Complete the table with suitable answers.
Fraction Numerator Denominator Fraction in words
% 1 4 One fourth
4
5
6
9

5. Complete the following table.

In words One Two Two Five
Fourths Sevenths | Ninths Sixteenths
Fraction S 1 3 7 -
9 4 5 6 13

Poor Fair Average Excellent
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1 a dpres® oferm wEdched.

2. 2O Ao’ 3/4% ) BREUHE.

aa

3. & TS e Do ALY 588° oeohod.

T

[ ]

4. $BS J&rgrared Toohodl.

Ao oo S8Bo PO ©FBEFH0
. 1 4 258 B T
4
5
6
9
5. B d&rgrares Toahod.
©58 288 3 Bod B | Both B 0 8
830 eord Do | EWo DEFE
A 5 1 3 7 4
SrHo 9 4 5 6 13
e © © .9 .. ..  ©@
Poor Fair Average httpod aravathiéxcelleﬁ{..com ' o{w‘r
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6. The sum of one quarter and three fourths make
What is the half of 40?
In a class room, there are 40 students. Out of them, 30 are boys. What is the fraction

denoted by boys in the class?

9. Identify and write the unit fractions of the following.

y 13211571
V TR T T

® 935919796

10. Arrange the following fractions in ascending and descending orders.

) 7213256

1 1 1 111

P9y
11. Write the correct symbol (> or <) in the given boxes.
2 4 6 3 1 3
)5 |5 Pyl 5 951 3
12. Encircle the like fractions.
gy 2,32 L3153 by >, 22 2 633

6°7°6°9°6°6"6

© & & @.G.
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6. a8 P B Hrtd FH o

7. 408° Jrigriio Qod?
8. a8 S8KBE® 40 5008 LgerTH. F0S° 30 Kok erenth. B8 SBKBE® arendd D grro?

9. 808 BS® wHrET o HBOD TADod.

10. aS dIme e98555e0, @S58 res ﬁézﬁ)oé‘s T On0&.

1 1 1 111
4°12°19°5° 3’15

11. ,°lig >&R yE &85 Hhen (> Soe <) orcHod.

2 4 63 1—3
©) gljg &) §D§ 3) 5[[5

12, $e8 Do “OF)” D

o @ . htt;’\aravathlt ac

er.com Sigmatint of We Teachern
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LENGTH
FED

SULMETITE CONVERSION OF UNITS
©od0 : (Pireren JedyKo

1. Convert metres into centimetres. (b5 2oBers 508 Hrsyos.)

a) 25m = 25 x 100 cm = cm
b) 89 m = 89 x ocm=___  cm
c) 105m = X cm= ___ cm
d) 250m = X cm= ___ cm

2. Convert the following measures into centimetres.
( 80H BPodeon ?ooé%c‘f))eag 8 ?ﬁJ"éDO&. )

a) I5m50cm =15%x 100cm+ 50 cm=__ cm+  cm=__  cm

b) 68m45cm = 68 x cm + cm=__cm+ _  cm=__  cm
c) I8 m65cm = X cm+ cm=__ ocm+  cm=__
cm

d) 275m9% cm = X cm+ ocm=___ cm+_  cm=__ cm

3. Convert centimetres into metres. (08055 Hegs*AS Srd)08.)
a) 8640 cm= b) 11540 cm =

c) 25634 cm= d) 50000 cm =

© @ O @.5
amarava i clcher.co

Poor Fair Average Goo Excellent

Sigpatint of W Teachen



””””””””””””” 10. Measurements s :

R T e oo e T et 0 Y i | rA” Classes Wmopen BeIOW L
https:/bit.ly/all-clgsses-new-text-book

LENGTH
SR 0 518 CONVERSION OF UNITS || i

©od0 : (PSreren Ao
1. Match the following (806 o*& 285808 )

a) 10m %) 6400 cm (20.80)
b) 16 m (&) 8900 cm (20.8)
c) 75m ) 1600 cm (20.80)
d) 89 m (%) 1000 cm (R0.50)
e) 64 m ) 7500 cm (20.80)

2. Put a “v“ to the longest measure.
(BKHBS Totd Fodenr atptron. IS LIS o8 &8 (V) Babod)

a) 60 m90 cm ] 61m9cem [ ]

b) 40m 15cm I:I 27m 15 cm I:I
c) 75m75cm ] 80m85cm [ ]

d) 105m25ecm [ ] 200md45cm [ ]

3. Fill in the blanks with suitable symbols. (<, >, =)
(8o grdos® $B5 WG (<, >, =) Go$od.)

a) 75 m45cm 80 m15 cm b) 105 m 15 cm 15005 cm
c) 155 m55cm 55 m 55 cm d) 200 m 90 cm 20090 cm

4. Convert metres into centimetres and centimetres into metres.
(Eoea8% 0SS, odersd Moersstag Srtyod.)

Metres ($oe%) Centimetres (Rod&oedy)
125
6900
450
1500
830
7800

N/~ thitSaEHer. '
P et aravathi er.com W o e Teacker
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SILMENO G ADDITION

1. Do the following.

a) m cm b) m cm C) m cm d) m cm
45 20 15 25 65 70 85 35
(+) 23 35 (+) 64 30 (+) 30 16 (+) 10 69
€) m cm f) m cm g) m cm h) m cm
25 89 38 95 87 34 98 28
(t) 96 24 (t) 86 26 (+) 35 78 +) 12 75
1) m cm j) m cm k) m cm ) m cm
110 66 125 98 255 69 399 25

(+) 359 55 (+) 654 26 (+) 396 37 (+) 453 78

2. Do the following.

a) 85 m+ 105 m b) 25m45cm+ 32 m55 cm

c) 30m65cm+ 28 m50cm d) 110m28 cm+ 215 m65 cm

'amarava cher com

Poor Fair Average Excellent § aé
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1. 808 B Tohol.

@) . 20.&. &) . 20.5. 8) & o.&. &) . 20.%.

45 20 15 25 65 70 85 35
(+) 23 35 (+) 64 30 (+) 30 16 (+) 10 69

&) . 20.%. &) . 0.5 am) . 0.8, 2n) &, 0. .

25 89 38 95 87 34 98 28
(t) 96 24 (t) 86 26 (+) 35 78 (+) 12 75

D) M. 0.8, D) & 20.%. ®) & 2o.&. 2) & 20.%.

110 66 125 98 255 69 399 25
(+) 359 55 (+) 654 26 (+) 396 37 (+) 453 78

2. 808 AL Wchod&.

) 85 &. + 105 &v. es) 25 &. 45 0.8, + 32 &. 55 0.8,

2) 30 . 65 20.9.0 + 28 &. 50 0.80. &) 110 &. 28 20.5n. + 215 &. 65 0. .

o v oLE ... ©
httpsy/a thitSaeker. :
pGood arava IExceIleﬁ{. com aM&T

Poor Fair Average
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SN LIS ADDITION - WORD PROBLEMS

1) Pinki has to wrap two gifts with a clothribbon. She requires 1m 50cm and 2m
25c¢m of clothribbon respectively. What is the total length of the cloth ribbon
required?

a) What is the information is given in the problem?

b) What is to be found from the problem?
c) What process do you follow to solve the problem?

2) Pinki has to wrap two gifts with a cloth ribbon. She requires 1m 50cm and 2m
25cm of cloth ribbon respectively. What is the total length of the cloth ribbon
required?

a) What is the length of the first ribbon?
b) What is the length of the second ribbon?

c) What do we do to find the total length of the ribbon required?

3) Pinki has to wrap two gifts with a cloth ribbon. She requires 1m 50cm and 2m
25cm of cloth ribbon respectively. What is the total length of the cloth ribbon

required?

The length of the first ribbon = Im 50cm
The length of the second ribbon = 2m 25cm
Total length of the ribbon +

4) Pinki has to wrap two gifts with a cloth ribbon. She requires 1m 50cm and 2m
25cm of cloth ribbon respectively. What is the total length of the cloth ribbon
required?

The length of the first ribbon =
The length of the second ribbon =
Total length of the ribbon =

© 0 ¢ 8.8
'amarava cher.com <

Poor Fair Average Excellent

Sigpatint of W Teachen



https:/bit.ly/all-clgsses-new-text-book

@o%o: Erl8en - D8 éé;‘éeg@o l

1) 208 3ok oo z‘ﬁ)eaq; 6833)?6358 0008000 @%b, ®oHsiko $&dme 1 .
50 0., £0605» 2 &. 25 0.8, © Bend ©IVBo ©PHB0. ©ond & Bod Bepdoe
oo PEI0E?

©) & SHRS AN SSPTEo DDHO?
©) & SRS DY EHFTO?
@) & SR FHOSTIE D HBAH SHIFAID?

2) 2508 BoK vt z‘ﬁ)eaq; 6833)26358 0008000 @%b, ®oHsiko $&dme 1 .
50 0., £0605» 2 &. 25 0.8, © B ©IVBo ©PHB0L. ©ond & Bod Bepdoe
oo PEI0S?

®) 0SA 6233)5 L I0?
&) Bo&d 633235 PEI08?
5) &8 Bod B)de Ido TP P DD H BXH?

3) 2508 BoK vt z‘ﬁ)eaq; 683?:)?6358 0008000 @%b, ®oHsiko $&dme 1 .
50 0., £0605» 2 &. 25 0.8, © Bend ©IVB0 ©PHB0h. ©ond & Bod Bepdoe
oo PEI0S?

0SB BepS FED =1 & 50 0.8
3ok dS DED 2 & 25 0.8
Botd deRe Rndo TPED

4) 2508 BoK vt z‘ﬁ)eaq; 6339263@‘3 0008000 ©9iH%0d. ®oHsiko $&dme 1 .
50 0.8, HBAD 2 . 25 0.8, © Bapd wHIBo wHoh. wowd & Tok dgye
Sogo PEI0S?

0B BenS TPED)
BoES de  PED
Botd B)Se Indo TFPED

& © ©
htt

Poor Fair Average
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mlm ADDITION- WORD PROBLEMS I

©odo : Erlfen - BE Jodgen

1. Arjun joins two water pipes of lengths 25 m 50 cm and 50 m 75 cm for his house
purpose. What is the total length of water pipe he made? (0] $35 =08 oSiore
Ao 25 b 50 0.8, BAS® 50 &b. 75 20.80.0 Both A Fepe EO1T. wowd
Do YLD Ko DS e %5 B0TEHT2TE?)

2. Ramya bought 1m 75 cm cloth for her younger son and 3 m 80 cm for her elder son.
What is the total length of the cloth she bought? (i 85 0% H5rd 8880 1 &. 75
20.80.e0 K850 G B &%0 3 &u. 80 2o.8v.© ED EHo. OOV S ),
oo ﬁ)tg PEI087?)

3. Seetha took 21 m 50 cm and 25 m 30 cm of thread to make long thread . What is the
total length of the thread? & 21 &. 50 20.8. £86050 25 &. 30 2o.&. © Bok
e 80 o8 SIS wotHre Saied TVod. wond & &K PEI0E?)

©c 0 v e O ...
amarava Good cher COnlqixcellent a& el
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4. A rope was cut into two pieces of lengths 15 m 80 cm and 23 m 60 cm respectively.
What is the original length of the rope? (a8 @°tH $&dre 15 &. 80 0.8, Hrdcs» 23
. 60 0.8 © Bo FwEeorr EEBoTH. Wowd BIB &K PEI0S?)

5. Sony purchased two pieces of a ribbon measuring 2 m 50 cm and 3 m 50 cmrespectively.
What is the total length of ribbon? (8 &8 8gS & $&dre 2 . 50 0. 8. HBS
3 8. 50 20.8. © Bok Hueore EBBoN0H. wond @ dxS Swdo PEBoS?)

httpssfatharavathitSaéier.com S;W/tm/z euchen
Poor Fair Average P Good aﬂ e
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R S H SUBTRACTION |

1. Do the following.

a) m cm b) m cm C) m cm d) m cm
9 25 8 36 6 85 9 36
-) 7 13 (-) 8 25 -) 4 35 -) 2 13
€) m cm f) m cm g0 m cm h) m cm
18 64 47 36 68 29 76 37
(-) 17 52 (-) 2513 (-) 46 09 (-) 36 24
) m cm J) m cm k) m cm ) m cm
62 19 41 56 88 24 92 68
(-) 48 98 (-) 26 68 (-) 69 37 (-) 90 99
m) m cm n) m cm 0) m cm p) m cm
118 56 296 43 758 64 836 75
(-) 99 68 (-) 188 67 (-) 689 87 (-) 378 96

2) Do the following .
a) 145m- 103m b) 212m— 179m

c) 25m 46¢cm — 13m 24cm d) 196m 14cm — 119m 86¢cm

'amarava cher com <

Poor Fair Average Excellent
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1. 806 Béepa BoHo&.

@) . 20.%. &) . 20.5. a) & o.&. &3) . 20.8%.
9 25 8 36 6 85 9 36
-7 13 -) 8 25 - 4 35 - 2 13

&) . o0.%. &) &. 20.%. a») . o.8. 2oe) . 0. M.
18 64 47 36 68 29 76 37
(-) 17 52 (-) 25 13 (-) 46 09 (-) 36 24

D) . 20.%. D) & 20.%. ) . 20.%. 2) . 0.5
62 19 41 56 88 24 92 68
(-) 48 98 (-) 26 68 (-) 69 37 =) 90 99

5) . 20.%. R) & 20.%. g) & 20.%. ) & 0.8
118 56 296 43 758 64 836 75
(-) 99 68 (-) 188 67 (-) 689 87 (-) 378 96

2. 80& 6%&@) Z0%08.
&) 145 &. — 103 &. ) 212 . — 179 .

8) 25 &. 46 20.80.-13 $0.24 20.80. &) 196 . 14 0.5, - 119 & 80 2o.&n.

o vy LE ... ©
httpsi/a thi -~>’ . :
pGood arava IExceIleﬁ{. com aM&T
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SN LTI SUBTRACTION- WORD PROBLEMS

oo : &BIE - B 26&326503

1) From a roll of 150 m long electric wire, a piece of wire of 85m 80cm long is cut off.
What is the length of the wire left in the roll? (150 . &r&s Ko xS &K <béy Ko& 80
8. 80 200.80. B EHOOITED. wawd &K HyE® WADS 815 FEI08?)

2) A cloth shop had 180 m 45 cm of uniform cloth. Out of it 95 m 65 cm cloth was sold.
How much cloth was left? (2.8 age ard Soth 180 &b. 45 0.8, HEEFD e &
o, BAS® 508 95 . 65 0.8, © 20 @@a&é, DADS & PER0E?)

3) A 60 m 85 cm length of iron wire was cut off from 180 m 50 cm length of a rolled iron
wire. How much wire was left in the roll? (60 $b. 85 20.8. EH Ko add &K 180
. 50 20.8. PEHKe 508 & e ol EGOoAT . 0N & zﬁaéégé‘s AoB KD Ko
&5 QrvensHrod?)

amarava hiteAcher.com =
Good

Poor Fair Average Excellent
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4) In a high- jump competition, Ramu recorded Im 80cm height and Raju recorded
Im 03cm. Who jumped higher? And how much?
2.8 3 20D ¥ Sotd Tedw 1 &, 80 0.8, Bckn Toer 1 8. 03 0.5, dheo &8
L. AN AENH IERD BRETH? D08 END DED Le8TS?

5) Ranga purchased a cloth measuring 9 m. Out of this cloth he gave 2 m 50 cm to the
tailor for stitching a shirt. How much cloth was left with him?
5) Sore 9 . &Y Ko ﬁ)cééa 9, ©oHSt 2 &. 50 0.8 K)té?ﬁ) syl é@oiﬁoggaﬁcpébé
tﬁéé BT, ©oNS BOS® OB S35 DHLADS 1HE FE30E?

"l!!l"[:| <::::::;[] <::::::5[]
htt
Poor Fair Average
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m: m ADDITION AND SUBTRACTION - WORD PROBLEMS I

©odo : Er8Y, 2IE - B IRESISY

1) A shopkeeper had a stock of cloth 90 m long. He sold 12 m 50 cm to a customer and
18 m 80 cm to another customer. How much length of cloth is left with him? (e.8
BOSPETEdd) H8 90 . BPED Ko @i o, Tl od a 12 . 50 0.8, 2 a8
DOTHTEEB, 18 &b, 80 20.80. @ HOGTE HITPHITHOIE ey, BOELT @S

Eéc‘,os MDADD 08 L 3087?)

2) Two pieces of ropes with the lengths 12 m 80 cm and 25 m 80 cm are cut off from
80m long rope. What is the length of the rope left? (12 &. 80 0.8, H8c5» 25 &. 80
20.80.0 EDH Ko Botd HwHod 80 . FEHKe T Hod EHOODTE. ©wond HOS®

OADS @t PEI0E?)

3) Two pipes measuring 1 m 40 cm and 2 m 80 cm of lengths are cut off from the pipe
with a length of 8 m to arrange electrical wires for a fan. Then, how much pipe is left
over? (.8 3PS5 S B30 8D)oHersd 6 ab. DS 25 K00 1 8. 40 20. . LB
2 . 80 0.8 FPEDH Ko HOH E8BoST B8 WAS D) PEI0E?)

Sigpatint of W Teachen
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4) From a plastic pipe of length 40 m, two lengths measuring 12m 50cm and 10m 80cm
are cut off. How much pipe is left? (40 &o. 0% Ko SR8 205 o0& 12 8. 50 0.8
50850 10 . 80 0.8, © LD Ko Boh LB BB, WADS D) EI0E?)

5) From a paper roll of length measuring 85 m, two pieces measuring lengths 20 m 60 cm
and 35 m 80 cm were used . How much length of paper is left in the roll? (85 &. &r&SH
e RS iﬁ)éég %008 20 . 60 20.8n. 58550 35 . 80 0.8, K Ko 0B
DOTPARY, & DS WADS Ao FEIoE?)

"l!!l"[:| <::::::;[] <::::::5[]
htt
Poor Fair Average
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SN LTI CONVERSION OF UNITS I

©od0 : (Pdreren Ao
1) Convert kilograms into grams. &¢® ([Psoed, [(PLoos8 Lrd)od.)

a) 8kg = 8 x 1000 g= g
b) 10kg = X g = g
c) 23kg = X g = g
d) 85kg = X g=_ g
e) 115kg = X g=_ g

2) Convert the following into grams. o8 =& [PEwo&® B Srsod.)

a) 25kg250g =25x 1000 g+250 g= g+ g= g
b) 35kgl50g = x g+ g= g + g= ___ g
c) 75kg780g = x g+  g= g + g= __ g
d) 150kg500g = x g+  g= g + g= __ g

3) Convert grams into kilograms. ((r&moy 888 rkoodidd Srdod.)
a) 1250g b) 8880g c) 9750g d) 10350¢g

4) Match the following. (o8& & 28583508, )

a) 65kg 125000 g
b) 89kg 169000 g
c) 125kg 65000 g
d) 169kg 218000 g
e) 218kg 89000 g

©o & ¢ @.¢
amarava hiteacher.com

‘ Sigpatint of W Teachen
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SHLMET I CONVERSION OF UNITS I
©od0 1 (Preren Ao

1) Puta “ « ” to the heavier measure.

(OB BES (D8 238 oz QBN 2B (V) Bc908.)

a) 220g [ ] 22000 g [ ]
b) 69kg [ ] 60900 g [ ]
c) 76kg [ ] 67000 g [ ]
d) 98kg [ ] 89 kg [ ]
e) 115kg [ ] 151 kg [ ]

2) Fill in the blanks with suitable symbols. (<, >, =)
(Bod grdodh 8BS Hes® (<, >, =) YrooBod.)

a) 25kg 655¢ 25605 g
b) 45kg 660g 45660 g
c) 75kg750g 75750 g
d) 115kg325¢g 151kg325¢g

3) Convert kilograms into grams and grams into kilograms.

(s 88 rsred®8, 888 rined (rine &°08 oo elal)

Kilograms (8&®resoen) Grams (r&éoe)
99
11000
241
98000
324
14000

o @ . htt;’xaravathlgr com Sigmatint of We Teachern

Poor Fair Average Excellent



1. Do the following.

a) kg g b)
3 450

(+) 1 120 (+)

e) kg g f)
36 450

(+) 75 685 (+)

) kg g J)
165 485

(+) 385 857 (+)

2) Do the following.

a) 75kg255g+45kg369¢g

_S br AII]CIasseslﬂewa

669 750

pengt}

https://bit.ly/all-c 335\3 new-text-book

m’ m ADDITION I

kg g c) kg g
6 350 8 655
2 140 (+)5 350
kg g g) kg g
44 850 58 660
67 369 (+) 96 440
kg g k) kg g
845 350 945 850
(+) 156 750

d) kg g
9 850
(+) 8 150

h) kg g
88 150
(+)29 950

) kg g
995 448
(+)95 675

b) 96 kg456 g+ 69 kg 825 ¢

® 0 O @

Poor Fair
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) 8. (7. g) 8. (. 8. (. (7. &) 8. (1.
3 450 6 350 8 655 9 850
(t) 1 120 (t) 2 140 (+)5 350 (+)8 150

&) 8. (. (7.
36 450

&s) 8. (. (.

44 850
(+) 67 369

aw) 8. (1. (7.
58 660
(+) 96 440

eoe) 8. (. (1.

88 150

(+)75 685 (+) 29 950

D) 8. . (.
165 485
(+) 385 857

) & (0. (1.
845 350
(+) 669 750

®) 8. (. (7. &) 8. (.
945 850 995 448
(+) 156 750 (+) 95 675

2. 80b SHeo DSH0&.
©) 75 &\, 255 (e + 45 &.(®. 369 (e, ©) 96 &.(w. 456 (e, + 69 &.(w. 825 (.

i [ 53
r.com Sigpatine of We Teacher
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SOV ADDITION - WORD PROBLEMS
Measure the weight of the yielded crop.

Rangaiah harvested paddy in his field

Now, he wants to transport the agriculture |
material by a truck. The weight of the material
is as follows.

Item No Weight of each Total weight
Paddy bags 30 70 kg 2100 kg
Grass bundles 20 15kg 300 kg
Drums 2 8 kg 16 kg
Sieves 4 2 ke 8 kg
Tarpal 3 4kg 12 kg
Total weight in the tractor truck

a) Total weight m the truck = kg

b) What is the weight of 4 sieves? Express it in grams.

c) If Rangaiah sells 18 paddy bags, how many paddy bags will remain with him?

d) Rangaiah’s family uses 1500 grams of rice per day. How much rice will be used in

a month? (30days). Convert them into Kilograms.

®© & © 9.2.90
'amarava cher.com
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Poos® HodS Jotod Sentro

Boriaiy &S Foost 6 Dodowrt. WIPE
©EDH HPIFCH PLPOY E5 Dod8 a8 (s
E5D0mreld ©HHTND. & FIER Jndo 2D
808 Qorr &od.

30D SR dogy 2.8%8) SND BN 0o B

P50 2PeD 30 708. (7. 21008. (.

"é &en 20 158. (. 3008. .

(£S5 8500 2 88. (1. 168. (.

BBy 4 28. (1. 88. (1.

EPTHOS 3 48, (7. 128. (7.
©ES® &) Iwdo

®) @oéo&e’i‘s (%2601 o By =

8. (.

®) 4 SN0 angyen 280) 0&? L(T°&6:oe3e3‘°’ @e;o)o&.

@) Sorchy 18 griso adren edyd w8l 5% oADS TR0 wen AR?

&3) 6050‘535 oo e 1500 (. ?‘Do‘ﬁa?go SDEO@PH'(S_\JD 2.8 Jo erost dos &053020&

DABPATEH? B 8 (riwes®s $rd)od.
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SN NI EE ADDITION - WORD PROBLEMS

1) A pack of sugar weighs 5 kg 600 g and dal weighs 6 kg 800 g respectively. How much
do they weigh together?

a) What is the information given in the problem?
b) What is to be found from the problem?
c) What is the process to be followed to solve the problem?

2) A pack of sugar weighs 5k g 600 g and dal weighs 6 kg 800 g respectively. How much
do they weigh together?

a) What is the weight of sugar?
b) What is the weight of dal ?
c) What do we do to find the total weight of sugar and dal?

3) A pack of sugar weighs 5 kg 600 g and dal weighs 6 kg 800 g respectively. How much
do they weigh together?

Weight of sugar = 5kg600 g
Weight of dal = 6kg800¢g
Total weight of sugar and dal =

4) A pack of sugar weighs 5 kg 600 g and dal weighs 6 kg 800 g respectively. How much
do they weigh together?

Weight of sugar =
Weight of dal =
Total weight of sugar and dal =

5) A pack of sugar weighs 5 kg 600 g and dal weighs 6 kg 800 g respectively. How much
do they weigh together?

@ oD @D ' \ H H(i ‘
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@o%o: Erl8en - O éé;éag@a l

L 28 Doleed aR8e 5 8. e, 600 (e, o805 Bobdsp s8¢ 6 8., 800 (TP, 23Xhs) B
& Both ar58E Ino ) JoB?

©) & SRS AN SSPTEo DDHO?
©) & SRS’ D EFTO?
B) & SHRGED FHOSTIE D HBAH SHIFAID?

2. 2.8 HoSeed 58e5 5 8.(rr. 600 (Tr. 00 Bodssdp 58 6 &.(e. 800 [P, 259 YW
& Both ar58E IEo ) JoB?

®) HOBTE B DY) Vo ?
@) BoODINP JFBE ) Do&?
8) DoUSTeE aRg8E HOK BobDLP arBie Fngo DK SR DH D IFH?

3. &8 HoSeed 58e5 5 8.(rr. 600 (Tr. 00 Bodssdp 58 6 &.(0e. 800 [P, 259 YW
& Both ar58¢ Io D) JoB?

DOBTE g8 D) =5 & (. 600 (.
BoBDBLP aRgBES 0ED)
Bo&o SnBo B =

4. 2.8 Hofeed ar58ed 5 8., 600 (7. 58050 Bobsp 58eS 6 8. 800 (e, 2t EDAWH.
& Both ar58E Ino 2D Vod?

DOBTE g8 D) =
BoBDBLP P58 0D =
Bo&odl SnBo VY =

5. 2.8 HoSeed 58e5 5 8.(rr. 600 (Tr. sH00ho Bobsdp 58 6 &.(e. 800 [P, 259 QAW
& Both ar58E InEo ) JoB?

6 &.(. 800 (.

httpssfatharavathitSaéier.com S;W/tm/z euchen
Poor Fair Average P Good aﬂ e
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SN ENIEE ADDITION - WORD PROBLEMS
©0d0 : Erd¥en - B Jodgen

1) Two packets of laddus weigh 3 kg 500 g and 2 kg 750 g respectively. How much do
they weigh together? BotH ot 8¢ athdHen SHIe 3 &.(e. 500 (. Hoc» 2 8.
750 (. 6. ©ond & 3o JStio Bngo HBHB0S?)

2) Hari bought 20 kg of sugar from a shop and 15 kg 750 g sugar from another shop. How
much sugar did he buy in all? (6 2.8 osreso K08 20 &.(e. S8 SE°E Lhseeso Hod
15 &.(re. 750 [P, © 288 He Holerdd Sad. e8dh ) dwdo Hodtrd dhS3os?)

3) A tin contains 20 kg 500 g of refined oil. The empty tin weighs 1 kg 750 g. What is the
total weight of the tin with refined 0il? (8 &ez)&® 20 8.(7r. 500 e, 2B Ko 8PS wond
S0, gr ey 5 1 8.(r. 700 (e, @nd 835 eond & 0% o) Indo abhBos?)

O O O O
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4) Roja bought 10 kg of dal and 8 kg of jaggery. What is the total weight of these two?
S (10 8.(rv. BoLHRy HBa» 8 8.(rv. Bo B, &8 Bokod) Indo at30E?)

5) Rajani bought 2 kg 500g of brinjal and 3 kg 250¢g of carrot. What is the total weight of
these two vegetables? (82 2 &.(cw. 500 (. Soseoben 3 8.(e. 250 ((° s%5Ben EH0.
®ond & B0k EREPehe InBo BRoE?)

& © ©
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m ! m SUBTRACTION I

1. Do the following.

a) kg g b) kg g c) kg g d) kg g
5 500 8 750 6 380 9 900
() 3 400 () 5 440 () 1 270 () 6 500
e) kg g ) kg g g kg g h) kg g
29 500 36 650 45 870 98 750
() 18 200 () 14 600 () 35 440 () 75 450
) kg g ) kg g k) kg g ) kg g
68 450 45 750 72 781 88 340
() 39 765 () 28 965 () 56 878 (-) 49 575
m) kg g n) kg g o) kg g p) kg g
155 650 269 500 358 350 550 885
(-) 78 785 () 175 755 () 269 785 (-) 465 995

2. Do the following.

a) 16kg450g—-12kg685¢g b) 95kg358g—-69kg485¢g

O @ O ©
Poor Fair

'amarava’cher com ~—"

Average Excellent
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1. 3oc& SHeo DHo8.

) &.(w. (. @) &.(w™. (. a) & (. &) 8.(w. (™.
5 500 8 750 6 380 9 900
(-) 3 400 (-) 5 440 -) 1 270 (-) 6 500
&) 8.(. (. &s) 8.(e. (0. aw) 8. (. eoe) 8. (e, (.
29 500 36 650 45 870 98 750
(-) 18 200 (-) 14 600 (-) 35 440 (-) 75 450
) 8. (. (1. ) 8. (. o) & (v (e ) 8. (.
68 450 45 750 72 781 88 340

(-) 39 765 () 28 965 () 56 878 () 49 575

&) 8. (o £) 8.(e. (. g) & (. ) 8. (.
155 650 269 500 358 35 550 885
(-) 78 785 (-) 175 755 (-) 269 785 (-) 465 995

2. 80 BHeo D508,
®) 16 8.(™. 450 (e — 12 8.(>. 685 (&) 95 8. (. 358 (. — 69 8. (re. 485 (.

o9 &.g.0 ®
httpsi//afmaravathites
Good
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m! M SUBTRACTION - WORD PROBLEMS I

oo : &1IL - B 26&326503

1) A tin full of biscuits weighs 12 kg 500 g and the empty tin weighs 1 kg 780 g. What 1s
the weight of the biscuits? @68 Q088 &8 Keo) i 12 &.(r. 500 (e, HOcD 58
ter) ey 18.(ow. 780 (7w A0S QL) 2B d08?)

2) Ram's weight is 40 kg 580 g. He fell 11l and losses weight by 2 kg 320 g. What is his
present weight? @sm 2t 40 8.r. 580 (. @SS ese) Bhoes Hod @S 2B 2 8.(7.
320 (e 8RB, [BQBo @8 a8 do&?)

3) Chanti's weight is 45 kg 360 g, while his sister's weight is 26 kg 880 g. Who weighs
more? and by how much? (So& 2%y 45 &.(°. 360 (. & %58 2y 26 &.(re. 880
(™. eowd azgaes* ABL AENS 2B BIND? JoB HEYN?)

Poor Fair Average Excellent
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4) The total weight of Seetha and Geetha is 80 kg 220 g. If Geetha weighs 39 kg
290 g, how much does Seetha weigh? (58 80k Ade Swdo 29 80 &.(r. 220 (. AS
29 39 8., 290 (P, @owd H% 2% dos?)

5) On Diwali festival, Renu bought 12 kgs of sweets. She distributed 6 kg 250 g among
her friends. Then, the weight of sweets left with her is? (&5 Hotor Teo 12 &.(. ©
Sozranen BB, @i 85 YErHes 6 8.(r. 250 [P © dTeanetd Hodod. BosKr e SKE
&) DTN DB DoB?)

"I!I';:| <:::::;j <:::::{]
htt
Poor Fair Average
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SILMEN I ADDITION AND SUBTRACTION - WORD PROBLEMS
©odo : Er8E, &1L - HE Q[dogen

1) The total weight of a bag containing three packets of dal, sugar and rice was

25 kgs. If the weight of rice was 12 kg 750g and weight of dal was 8 kg 300 g, find

the weight of the packet containing sugar? (&.8 $od¢® &) BodHDp, Hoswey O

Dadigo aRBee Swdo athd) 25 &.(rr. Ddigo ) 12 &.(rw. 750 (e, HBAD EobHdY
2% 8 8., 300 (. @ond HoBwE B ) DoB?)

2) The total weight of three boys is 120 kgs. If two of them weigh 45 kg 300 g and
40 kg 800 g respectively, what is the weight of the third boy ? (w95 o bye Iwdo
259 120 8. (. T0S° 80 Hoif Sy wthdHes SO 45 8. (e, 300 (. 8D 40 8.7,
800 (rv. ©ond S KoK DY B30E?)

Poor Fair Average Excellent
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3) A grocer had 100 kgs of sugar. He sold 25 kg 750 g to one customer and 32 kg
250 g to another customer. Find the weight of the sugar left with him? (2.8 &oseearreod
3¢ 100 8. (. H0Ters &), S 2.8 AAFBrrwetS 25 8. (. 750 (e, 5000 HBBmE
DB NeeBodE 32 8. (. 250 (. 2Bodiie HOUTEEH @D, BBl @8 H& DNOI

H0BE 2B o&s?)

4) Total weight of a bag containing three vegetables brinjals, tomatoes and potatoes is
9 kgs. If the weight of brinjal is 2 kg 500 g and tomato as 3 kg 250 g, find the weight
of potatoes in the bag? (2.8 $0DS® Ko Soseadhen, er5moePen B 2oy Hose 0o
%) 9 8.(0e. SoseohHe ) 2 8.(w. 500 (e, o8k erdmere sy 3 &.(. 250 (.
0NB 20TPY K0He YD B EEm. )

"l!!l"[:| <::::::;[] <::::::5[]
htt
Poor Fair Average
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Capacity
Sub Topic :
©od0 : (Pireren Ao
1) Convert litres into millilitres. ©¢:3: HOHOZEEIS Sryod.)
a) 11417= x = ml
b) 2551 = x - ml
c) 488 1= x - ml
d) 595/ = x - ml
e) 980 /= x - ml
2) Convert millilitres into litres. ( 099¢:5% He3E°A8 Hrd)od.)
a) 28000 ml b) 35000 ml
c) 56000 ml d) 97000 ml
3)  Match the following. (o8& & e:858K0&.)
a) 971 989000 ml
b) 119¢ 268000 ml
¢) 2681 689000 ml
d) 595¢ 97000 ml
e) 689 ¢ 119000 ml
f) 989¢ 595000 ml
P = O O o
o @ amaravcher.co Sigatint of Hhe Teacker
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SN LTI CONVERSION OF UNITS I

©od0 : (Preren Ao
1) Put a (V') to the more capacity. (D&% H05reed8 (V) B0%08.)

a) 60¢ [ ] 65000m/ [ ]
b) 49¢ [ 45900 m/  [—
c) 94 [ ] 94500 m/ ]
d) 68¢ [] 67800m/ [
e) 85¢ [ 86500m/ [

2) Fill in the blanks with suitable symbols. (<, >, =)
(o $B8 08 (<, >, =) 08 HrooSos.)

a) 751 70500 m/
b) 65¢ 65000 m/
c) 23t 25000 m/
e) 95¢ 9900 m/

3) Convert litres into millilitres and millilitres into litres.

Bots S DegH WHDOYTE DO WHHLTH debym $rd) HEEH FBoS0E.)

Litres (9¢:%) Millilitres (99¢%)
231
654000
854
999000
652
584000

o e o8 ... ©
httpsia thitSaerer. '
pGood arava IExceIleﬁ{. com oﬂm‘r
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ADDITION

1. Do the following.

a) { ml b) ¢ ml ¢) ¢ ml d) ¢ ml
2 220 5 450 7 350 8 650

(+) 3 460 (+)6 330 (+) 5 420 (+) 4 130

e) ¢ ml f) ¢ ml g) ¢ ml h)y ¢ ml
12 500 45 350 73 880 88 765

(+) 25 750 (+)83 855 (+) 45 685 (+) 35 475

iy ¢ ml i ¢ ml k) ¢ ml ) ¢ ml
125 455 268 349 565 450 980 855

(+)456 858 (+) 379 856

(+) 255 369 (+) 123 560

2) Do the following.

a) 654¢ 350 ml+ 215¢ 860 ml b) 854¢ 750 ml+ 612 ¢ 460 ml

oD @D \ “ 7‘: ‘
'amarava!cher com S

Poor Fair Average Excellent
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1. 8o& SHeo DSH0&.

) . X.9. &) O, .9, z) O .5 &) 9. .5.

2 220 5 450 7 350 8 650
(+) 3 460 (+)6 330 (+) 5 420 (+) 4 130
&) O .5 &), ».5. an) O, .. ) . .9,

12 500 45 350 73 880 88 765
(+) 25 750 (+)83 855 (+) 45 685 (+) 35 475
D O O D S .. 0) O .5 a) O .5

125 455 268 349 565 450 980 855
(+) 255 369  (+)456 858 (+) 379 856

2. 8o& Bézpa D508,
@) 654 9. 350 .. + 215 . 860 w.d.

(+) 123 560

&) 854 8. 750 .. + 612 . 460 0.D.

& © ©
htt

Average

Poor Fair
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m! M ADDITION - WORD PROBLEMS I

©0od0 : Erd¥en - B Jodgen

1) A bucket contains 4 £ 500 ml of water. If 2 £ 850 ml of water is added to it to make it
full, what is the capacity of the bucket? (e.8 @8)¢656° 4 &. 500 .. 3 tod. w8 2 d.
850 0.9, B 80T a5)¢5 VodH. ®and @ &8¢ HOKrBo Jod?)

2) A milk can contains 10 £ 300 ml of milk. If 8 £ 500 ml of milk is added to it, what is the
total quantity of milk in the milk can? (&8 &ro Ze&® 10 &. 300 .O. aren &m0,
&8 8 O. 500 .d. s IV @ o LeyE &) e HOSTeo Dod?)

3) On Harshitha’s birth day, her mother bought 5¢ 500 ml of milk from one dairy and 8¢
350 ml from another dairy. How much milk did she buy on that day?
(08 ‘@@2665&0 LoBGyore oY) ek el 30 08 5 O. 500 0.9, HBcH 2oE B8 Hod
8 9. 350 .9. HOLTe0 Ko P 8. 90NT eI §°%) o PO HBRT0 DoB?)

amarava hiteAcher.com =
Good

Poor Fair Average Excellent
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4) 5¢250ml and 6 800ml of oil containing in two coins respectively, is poured into an
empty drum. Find the total quantity of oil in the drum? ($&dre 5 . 250 0.9, B 6
©. 800 .9. HBETe0 Ko S Ef,ajg)e)é‘s Ko 3 el g @62633&68 PR, & @ﬁ:ﬁn&és Be

SR HBSPe0 DoB?)

5) A shopkeeper had 75 £ 250 ml of kerosene. In addition, he bought 30 £ 800 ml of
kerosene. What is the total quantity of kerosene with him? (.8 tHseesmedd 38 75 O.
250 .9, 85T . @8 w8 30 O. 800 .. 858 EJ BT, BIPKd @B

Eétgﬁea 8558 H85me0 Dos?)

ol:l @D @D
htt
Poor Fair Average

m Sigmatint of We Teachern
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a) { ml
7 250
(-) 2 150

e) { ml
25 350
(-) 12 250

iy ¢ ml
265 650
(-) 175 855

1. Do the following.

https://bit.ly/all-c 335\3 new-text- book

NI SUBTRACTION

b) ¢ ml c) { ml d) ¢ ml

3 455 9 250 8 950
() 1250 (-) 7 150 (-) 5 455
f) ¢ ml g) ¢ ml h) ¢ ml

56 650 83 780 95 450
(-) 38 985 () 75 980 () 29 865
j) ¢ ml k) £ m ) ¢ ml

389 455 988 850 856 750
(-) 256 865 (-) 495980 (-) 745 850

2) Do the following.

a) 1194 250 ml —95¢ 500ml

b) 225¢ 650 ml — 168 ¢ 745 ml

® @ O @
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8od SHeo DSSH0&.

@) . 0.
7 250

() 2 150

&) d.
25 350
(-) 12 250

d) b
265 650

(-) 175 855

0.9.

&)

Q)

8o0d SHeo DSH0&.

@) 119 O. 250 0.5. — 95 &. 500 ®.d.

https:/bit.ly/all-clgsses-new-text-book

., .5
3 455
1 250

&) . ».5.
56 650
(-) 38 985

) O
389 455

(-) 256 865

) 7

a) O .9

9 250
150

0.5.

am) O, W.d.
83 780
(-) 75 980

) O
988
(-) 495

850
980

0.9.

) O X.D.
8 950

() 5 455

ar) O, .9.
95 450
(-) 29 865

a) O
856 750

(-) 745 850

0.9.

&) 2258. 650 0.5. — 168 . 745 ..

& © ©
htt

Average

Poor

Fair
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r.com
Excellent

Sigmatint of We Teachern



ety 10. Measurements T e A

oo oo oo e rAII Classes Wr Open Below oo oo . - - -
https://bit.ly/a -cﬁ“sfsg)-;&é?v-text-book

SUILNEIE SUBTRACTION - WORD PROBLEMS
wodo: 8238 - B8 [ogen
1) Atincontains 20 £ of oil. Out of it, 980 ml is leaked form the tin. How much oil is left in

the tin? (20 &. &3 Lay Kol 980 .O. I wHLBH SBVFVIB. WS DoF HOKTE0
Ko &3 &amys® HADKH?)

2) A bucket of capacity 8¢ contains 3 £ 300 ml of water. How much more water can be
filled in to it? (8 &. $65e0 Ko 2.8 3332;55638 39. 300 0.5. % ¢od. e eaé&é5 Q0HEE Vo
H05e0 Ko HE PBEd?)

3) Kiran consumes 350ml of cool drink from a 1 £ 500 ml cool drink bottle. How much
cool drink is left in the bottle? (@56 1 . 500 0.5, HBLrea0 Ko ErSGoE L Hod
350 0.9, ErSRoED B, 8085r & DI WADS ErS|Bo8 HBS5Te0 JoB?)

Poor Fair Average Excellent



,,,,,,,,,,,,,, 10. Measurements

e ZZ::::::' Classes W Open Below L oo oo
https://bit.ly/all- gség;-;&é?v-text-book

4) The capacity of petrol tank in a car is 28 £ 800 ml. It contains 15 £ 300 ml of petrol.

How much more petrol it can take in?
2.8 558" Ko EPS eegoE K050 28 . 800 0.O. worde® 15 . 300.9. DE°S
Botd. H08EP Jod HOLT0 Ko WEPSDH TS Dchitesn?)

5) Ina petrol bunk 980 ¢ 250 ml of petrol was available in the morning. 868 £ 750 ml of

petrol was sold on that day. How much of petrol was left in the bunk?
2.8 ¢S 208 Kot eBaho Fre 980 O. 250 .0, HE'S &8, @0 Kod & B

868 . 750 0.H. S @8)}&3, 2085 Do) S DOm0 Dod?)

"I!I';:| <:::::;j <:::::{]
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mlm ADDITION AND SUBTRACTION - WORD PROBLEMSI

©odo: Er8%, 2IE - B Q_dogen

1) A shop keeper had 90¢ of kerosene. He sold 15 £ 500 ml to one customer and
28 £7750 ml to another one. How much kerosene is left with him? (2.8 &oseeamrdod ¢
90 ©. 85%8 B, ©oHS® Hod a8 HABFHTHIE 15 . 500 .. 8050 Bo&S
DOTHEEI8 28 . 750 0.O. 85°8 w8, B08ir @8 HE DADS 85°S HBLTR0

No&? )

2) A new water tank with 1500 £ capacity is installed on a house. 450 £ 500 ml of water is
filled in the first spell and 680 £ 250 ml in the second spell into it. How much more
water can the tank hold? (1500 . %8&remo Ko && o268 ¢roEh a8 @083 do)en
B, ok $3S® 450 O. 500 0.D. 0835w BokS $¥S* 680 . 250 .. HBKTE0 Ko
DBE® A oardd. wand Bos° & 2508 DoHEAS Jod HOHTHRo Ko VB WBIE?)

Sigpatint of W Teachen
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3) A big drum contains 200 litres of oil. During a day 75 £ 250 ml of oil was sold and 900
ml was spilled. How much of oil was left in the drum? (2.8 ¢ (& S0 200 O.
$BEreR0 Ko 3 Sok. ©i B%erd 75 . 250 0.5, 3% wlyr 900 .0, &I
SeBRa008. @ (EHS® HADS KrE HOKPHo Dod?)

4) There was 75 £ 750 ml water in a drum. Raheem took out 8 £ 700 ml of water into a

bucket and 17 ¢ 250 ml into a tin. Then how much water is left in the drum? (e.8 (&
$50tH 75 O, 750 .9, H85rw0 S0 A Sowkh. Biro ol Kod& 8 H 700 0.5, LB &
28)56° HBain 17 &. 250 0.5, AB & 2.8 Ler)Bor VPR, BB (BXs® WADS

DB H85700 N0B?)

"I!I';:| <:::::;j <:::::{]
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. TIME
SILMEL O IDENTIFY THE TIME I
1) Note down the time in the boxes provided, by observing the clock.
11 12 1y 12 1 11 12 1 11 12 1
10 2 10 2 10 10 2
9 3 9 3 9 3 9 3
8 4 8 4 8 4 4
76 5 7 ¢ 5 7/ 5 715
~h m s ~h m s ~h m s ~h m s
1 ¥ 1 11 ¥ 1 11 12 1 11 12 1
10 2 10 2 10 2 10 2
9 3 9 3 3 9 3
8 4 8 4 8 4 8 4
76 5 76 5 76 5 7Y 5
~h m s ~h m s ~h m s ~h m s

2) Arrange the second, minute and hour hands in the clocks as per the times given in the

boxes.
11 12 4 11 12 4 11 12 4 1112 4
10 2 10 2 10 2 10 2
e 3 e 3 e 3 ° 3
8 4 8 4 8 4 8 4
76 5 7 ¢ 5 7 ¢ 5 7 ¢ 5
3:25:55 12:45:15 2:35:10 1:55:05
11 12 4 11 12 4 11 12 4 11 12 4
10 2 10 2 10 2 10 2
e 3 e 3 e 3 e 3
8 4 8 4 8 4 8 4
76 5 7 ¢ 5 7 ¢ 5 7 ¢ 5
5:15:20 4:5:30 10:10:40 11:20:35
® @ © O Q &
/ A h .
amarava cher. comEXCellent W of e Teacken
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]

808 add HETeSined H8800D), BAS DA o€ 8ot &odS 5o TraHod.

1.
11 12 1 12 1 11 12 1 11 12 1
10 2 10 2 10 10 2
9 3 s 3 9 3 9 3
8 4 8 4 8 4 4
74 5 7 ¢ 5 7/¢ 5 71 5
| Mo, A D | Mo, A . | Mo, A D | Mo, A D
1 ¥ 1 11 ¥ 1 11 12 1 11 12 1
10 2 10 2 10 2 10 2
9 3 9 3 3 3
8 4 8 4 8 4 8 4
74 5 765 76 5 715
| Ko AR | Mo. .. | Mo. .. | Mo. ..

2. 808 ad@id BArIE edirbesorrt Kowohd K& E0st 55D, AP, Koo Hwepexd

ACHO&.
11 12 4 11 12 4 11 12 4 11 12 4
10 2 10 2 10 2 10 2
° 3 ° 3 9 e 3 ° 3
8 4 8 4 8 4 8 4
7465 76 5 76 5 76 5
3:25:55 12:45:15 2:35:10 1:55:05
11 12 4 11 12 4 11 12 4 11 12 4
10 2 10 2 10 2 10 2
° 3 ° 3 ° 3 9 e 3
8 4 8 4 8 4 8 4
7465 76 5 76 5 76 5
5:15:20 4:5:30 10:10:40 11:20:35

O © © 6.8, .. ...
.0 @
httpsi/a thiteacker. :
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SN I CONVERSION OF UNITS I

1) Convert the minutes into seconds.

a) Sminutes =5 X 60 seconds = seconds
b) 10 minutes = X seconds = seconds
c) 15minutes = X seconds = seconds
d) 20 minutes = X seconds = seconds
e) 25 minutes = X seconds = seconds
f) 30 minutes = X seconds = seconds

2) Convert the hours into seconds.

a) 1hour = 1 x 3600 seconds = seconds
b) 5 hours = X seconds = seconds
c) 8 hours = X seconds = seconds
d) 10 hours = X seconds = seconds
e) 11 hours = X seconds = seconds
f) 13 hours = X seconds = seconds

3) Convert the hours and minutes into seconds.

a) Shl6min=5h+16min =25 x 3600 sec +16 X 60 sec

= sec + sec
= sec

b) 8h 25mm=__h+ min = X sec+ X sec
= sec + sec
= sec

® @ © 9.5
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@o%o gl (SSreren Jrdko l

1 Qe DEIEE Srdod.

©) 5dFe> = 5 X 60 ED = 5%
©) 5 dapen = X B = )
=) 15 DDvdren = x 2ES = G
&) 20 DDaven = x 2ES = 5%
&) 25 DDodren = x 2ES = 5%
&) 30 DDvaven = x 2ES = G

2. Hobeod DEFEE Srdiod.

®) 1 Ko = 1 x 3600 28x = 8%
©) b5 foben = X VB = 8
®) 8 Hoben - = X DEY = D
&%) 10 Kotoen = X B = 83
&) 11 Hotoen = X By = 83
&8) 13 Hotoen = X B = 83

3. Hobed Hodk Aot JELS’E Srdiod.

®) bito. 16. = Hko. + 16.

5 x3600. +16 x60 D

= ™A
- 2.

&) 8¥o. 250. = Ko+ . = X .+ X
= 2+

o @ . htt;’xaravathlgr com Sigmatint of We Teachern
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ST ADDITION

1. Do the following.

a) 45sec+ 35sec = sec = min sec
b) 35sec+55sec = sec = min sec
c) 30sec+40sec = sec = min sec
d) 55sec+ 05sec = sec = min sec
2. Do the following.
a) 25 min + 45 min = min = h min
b) 55min+ 25 min = min = h min
c) I5min+05min = min = h min
d) Smin+55min = min = h min
3. Do the following.
a) min sec C) min sec d) min sec
25 45 45 50 55 20
(+) 14 35 ()10 40 (+)02 55
d) h min f) h min g) h min
6 40 11 30 12 10
(+)5 25 (+) 8 45 (+t)9 55

4. Do the following.
a) 45 min 10 sec + 10 min 55 sec b) 25 min 20 sec + 30 min 50 sec

c¢) 2h30mm+ 5h45 mmn d) 5h25 min+ 3 h 50 min

© O & 0.5
'amarava cher.com
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©0d0 : e
1. 8o& S¥e» Rc%08.
®) 45 2. +35d. = 2= Qi il
g) 352. +552. = 2= Qi il
g) 30d. +40D. = 2= A i
&) b5 . 05, = 2= Qi il
2. 80b BHeo R%08.
®) 25. +45 . = dn = fotelll QA
s) 55 . + 25 . = dn = fotelll QA
g) 153. + 5. = A = fafelll i
&) 5. +55. = dn = fotelll QA
3. 80 B¥Heo R%08.
®) J. . g) A . &) A, .
25 45 45 50 55 20
(+) 14 35 (+)10 40 (+)02 55
&) Ko. Q. &3) No. Q. 2a») Ko. Q.
6 40 11 30 12 10
(+) SA (+) 8 45 +) 9 55
4. 80 BHeo R%08.
®) 453. 10 2. + 10 . 55 . &) 2539. 20 . +303. 50 2.
g) 2%0. 309. +5 Xo. 45 Q. &) 5 Ko. 25 . + 3 KXo. 50 Q.

"l!!l"[:| <::::::;[] <::::::5[]
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SN OIS ADDITION - WORD PROBLEMS

Praneetha did her homework inlh 30 min. She started at 6:30 in the morning.

At what time did she complete the homework?

a) What is the information given in the problem?
b) What is to be found from the problem?

c) Which process do you follow to solve the problem?

Praneetha did her homework inlh 30 min. She started at 6:30 in the morning.

At what time she completed the homework?

a) How much time did Praneetha take to do the homework?
b) What is the starting time of the homework?

c) What do we do to find the time when was completeed homework

Praneetha did her homework inlh 30 min. She started at 6:30 in the morning.

At what time did she complete the homework?
Time taken to do the home work =1 h 30 min= 1:30

Starting time of the home work = 6:30 in the morning

Homework completed at = O’ clock

Praneetha did her homework inlh 30min. She started at 6:30 in the morning.

At what time did she complete the homework?

Time taken to do the home work =
Starting time of the homework =

Homework completed time =

Praneetha did her homework inlh 30 min. She started at 6:30 in the morning.

At what time did she complete the homework?

© 0 ¢ 8.8
'amarava cher.com <
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@o%o: Erl8en - O éé;éag@a l

1 ($B8 85 208590 1Ko, 30 Q. o $rd B1H6. s GEHo 6:30 Ko.0H H (FBodod,
O DH5TAE e oBDNY FroBAHKeE?

©) & SRS aYS SSPTEo DDHO?
©) & SRS’ DY EFTO?
®) & SHRGED FHOSTEIE D HBAH SDIFAID?

2. (BHS 85 5oBHIY 1 K0. 30 3. of° Hro FS6. @R &0 6:30 Koo DY (FEoHoDS,
O DH5TAE e BoBDNY FrOBAHKeE?

®) HBE 85 D0dH FrEBADLH HES HFoHo Do?
@) (BHE 85 2085 (FBoodS HHoaHo HB?
3) 208500 FrEHvS $rcho EHFTHEI8 Hi%o D B5rD?

3. BhS 835 50&HIY 1 K0. 30 Q. of® Hro F56. @R &S0 6:30 Ko.0B D (FEoHoDS,
O DH5TAE e oBDNY FrOBAHKeE?

[0BHY POBAEDEE DE3 Joaho
B ([PBoRoDS dhcho
e HY FrOBE “HAHo =

4. (BB 5 508530 1 Ko. 30 . o8 Frd L6, @R B0 6:30 Koo H (FEoDo,
O DH5TAE e oBDY FroBAHKeE?

2085 FrUaeE HS Hibaho
B (B0 ddcdho =
508 H FOT1S dhroho =

5. ($hS 85 5085 1 K0. 30 9. of Hro F56. @R &S0 6:30 Koo D (FEoHoDS,
O DHO5TAE e BoBDNY FrOBAHKeE?

1 Ko. 30 0. =1.30
6:30

m PN @
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SN EE ADDITION - WORD PROBLEMS
©0d0 : Erd¥en - HE JHogen

1. A train took 1 h 15 mins to travel from Eluru to Vijayawada and 2 h 25 min from

Vijayawada to Ongole. What is the total time taken by the train to travel from Eluru to
Ongole ? (2.8 Benv derdd DHod DescDazees Béo@eaéa 1 50.15 Q. S8 eecdhawes Lod
2.,0fPen SR 2 rfo. 25 Q. Vaho HEG. o3 & Ben e Hod a.offen (HaseBoHed
DES o o&?)

2. A television programme started at 7:30 in the evening. It lasted for 35 min.
At what time did it end? (&8 &.9 B8 seEgEHo Fado@o 7:30 Ko. o (FFEoFR 35
APoS® H0AR0E. WS @ (HIPS SPEYED0 SOARKIPE $cHo Nod?)

3. Nanaji spent 1 hour 55 minuets for fishing and 1 hour 40 minuets for swimming on a
beach. How much time did he spend on both the activities? (wears (s &0 Sot 1
Ko. 55 Q. en BHen Hdr, 1 Ko. 40 Q. en S8 EH&EP KEJTRE. ©owd e85 D& Ho
5% ImFo KEHS Sbado No&?)
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4. Himagiri spent 2 hr 45 min on reading and 1 hr 15 min on playing on a Sunday. How
much time did he spend on both ? A0 a8 edado T 2 Ko. 45 . en DY@
080 1 Ho. 15 Q. ethdr KEHTE. @B & Bolods Jod Kivabo Sthoweh?)

5. Krishna started on bike at 9:50 am and he reached the destination after 35 minutes. At
what time did he reach his destination? (£)3) &8 aFd0p &iicho 9:55 Ko, ©BH adden
36 35 Q. o &% Ké}é@;@@& DO, 085 ﬁéa?gﬁga"éb& 36265’30)3&50 (%o do?)

httpssfatharavathitSaéier.com S;W/tm/z euchen
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St Sl SUBTRACTION |
1. Do the following.

a) 45 min - 25 min b) 55 min - 15 min

¢) 35 min - 20 min d) 15 min - 05 min

2. Do the following.

a) min sec b) min sec C) min sec d) min sec
25 45 30 25 45 50 55 20
(-) 14 35 (=) 12 50 () 10 40 ()02 55
d) h min e) h min f) h min g) h min
6 40 8 55 11 30 12 10
() S 28 (N A D8 ()Y Q& A48 (0 55
O—= o= N >

3. Do the following.
a) 45 min 10 sec - 10 min 55 sec b) 55 min 20 sec - 30 min 50 sec

¢) 5h30min-2h 45 min d) 5h25 min- 3 h 50 min

'amarava cher com

Poor Fair Average Excellent § aé
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®OI0

1. 80H Bé&pa DODo&.
®) 459. — 257 €) 559. — 15D
z) 359. —20 &)159. — 056D
2. 8o& Bé&pa DODo&.
®) D . s) D . 3z Q. . &)D. .
25 45 30 25 45 50 55 20
(-) 14 35 (-) 12 50 (-) 10 40 (-)02 55
&) Ko. Q. &3) Ko. Q. 20) Ko. Q. 2a) 0. Q.
6 40 8 55 11 30 12 10
-) 5 25 -) 6 25 ) 8 45 ) 9 55
3. 80H Bé&@o DODo&.
®) 459. 102. —102. 55D ) 55.20. —302. 50D

1) 5 Ko 309. —2 Ko. 45 Q. &3) 5 Ko. 25 0. — 3 Ko. 50 Q.
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ml m DENOMINATIONS I

1. Paste dummy currency notes whose total will be R2000.
® 2000 205 Eay FegdH wd8oBod.)

2. Fill the columns against denominations to deposit R2520 in the bank.
RRrR25205% aP?SogeSs 2250RAWEE 80d SHde & éééée@ ooe Jroosod.)

v deaillal) Clavgopiumnlh Cimeeryn ¢ emel Gt oYl ai¥iaiaiin S Doimie of GAGSH HECHIES dagnonlbed
A HT
sty smuani leh avrlausnd | Clelails Of Chogus AT
s T [T — Pt R — =
|
k
|
—— = i 4
1
|
N SE— —
|
} !
1
| Toam

o @ . htt;’xaravathlgr com Sigmatint of We Teachern
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m: m DENOMINATIONS |

©®0d0 é@éésa

1. Write the denominations equal to the amount given on the left. (D& SHS 2508
éeaaa)éa VeHone ééé@o:‘b o008, )

a.
b.
C.

d.

.

f.

g.

<100 = 50+ 20+ 10 + 10+5+ 2+ 2 + 1

R A50 = e e e e e e e
T 000 = e et ettt e e
L0000 = ettt e e et e e et eeeea
R LA = e et
L8000 = e e e et e e e ee e
R 2000 = ettt e e et e e et eeeea

2. Solve the following Problems. (8o& S%Hes Wahod.)

a.

Bhavani sold cauliflowers for R1550 and cabbage for R1850. How much total
amount did she get ? (§ar0 520598 o R1550 &, s%@d R1850 & ey, o
PodS oo &a) Do&E?)

Asha had R3500 in her hand bag. She bought a bag for R1680 and cosmetics for
R560. Then how much amount is left with her? (sdr »0&85R $otH R3500 So.
oD R16808° 2.8 emgfih 5080 RE608° w0o8ten FErR 96, wond o 5§
2083 ADI fﬁawa) 0&?)

amarava RiteAcher.com 2
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SULM O SASSESSMENT

1. Convert the following.

A) Convert 245 m into centimetres.
B) Convert 7985 g into kilograms.
C) Convert 65 | into millilitres.

D) Convert 90 min into seconds.

2. Match the following.

280 kg 18000 sec
350/ 280000 g
650 m 350000 ml
5 hours 65000 cm
3. Fill in the blanks with suitable symbols (<, >,=).
A)689cm = 68 m
B) 6kg 780g 6780 ¢
C)9845ml 901
D)845m_ =~ 8m45cm
E)OSm95cem 9595 cm
4. Do the following.
A) m cm B) kg ¢ C)l ml D) Min Sec
85 75 95 550 64 350 45 20

(t) 23 45 (+) 36 890 (+)92 950 (+) 68 55

O O O O y N O @
o @ @ httaravathit acker.com W aé e Teacker
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©) 245 &. o 20dLEERR Erds.

@) 7985 [rwo, 88K rinesids Lrdod.
5) 65 O. o WHOHLEE B Hrdjol.

&) 90 Q. o D8P S°A8 S0l

1. 8ch & aé:vcé)o&.

2. aéét@o&.

280 &% (rrsmen 18000 85w

350 H&ry 280000 (reamen
650 ey 350000 O Oeasy
5 Kotren 65000 o0& Srexts

3. grdedh 888 e (<, >, =) 8 rbobod.

®) 689 o.. - 68 &».

@) 6 8. 780 (e. - 6780 (.

8) 9845 0.9. - 90 .

&) 843 &n. - 8 &. 45 20.5.

&) 95 &. 95 20.8v. - 9595 20.8v.

4. 8ob BKeo B0%0&.

®) . 2o.&. ©) &.r®. (. g) O .. &) d. .
85 75 95 550 64 350 45 20

(+) 23 45 (+) 36 890 (+)92 950 (+) 68 55
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S. Do the following.

A) m cm B) kg g C)l ml D) Min Sec
82 75 75 850 75 250 32 46
(-) 36 85 (-) 64 980 (-) 28 840 (-) 24 55

6. Packets of sugar and dal weigh 7 kg 750 g and 8 kg 500 g, respectively. How much do

they weigh together?

7. In a high jump competition, Ramu recorded Im 85 cm hight and Raju recorded1m 3

cm. Who jumped higher? And how much?

8. There was 80 £ 750 ml water in a drum. Raheem took out 6 £ 700 ml of water into a

bucket and 21 £ 250 ml into a tin . Then, how much water is left in the drum?

http aravathl Sath

teaeker.com Sigmatint of We Teachern
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5. 80H 6%&@ BOHo&.

®) . 2o.5. &) &.(v. (. 5) O, 0.5 &) J .
82 75 75 850 75 250 32 46
(-) 36 85 (-) 64 980 (-) 28 840 (-) 24 55

6. HoWrE HOXL BohHIpe 2hHen SHIre 7 &.(w. 750 (v, 8 &.(v. 500 (. ©0S

& So&o® Iwso DBII0S?

7. a8 3 205 Fde S0 w1 &, 85 0.8, 580k Trer 1 &, 03 200.8b. ke ST

DX, DD D I INBID? Jod IENN?

8. a8 A& sy S0 80 O. 750 0.9, A Boh. Biro 6 O. 700 0.5, ABJ 255 KO

250 0.5, A& &8 Kery&% ART. ©owd B8 [Ens® HADS b Jod?
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